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The table below embodies data on the number of students admitted in three different
colleges (A, B and C) during six different years from 2014 to 2019. Based on the data
contained in the table, answer the questions 1-5 :

Year - Wise Number of Admitted students in different colleges :

Col]e_..ga

Year A B C

v

2014 8000 14000 11000
2015 15000 17000 13000
2016 17000 23000 19000
2017 13000 27000 23000
2018 22000 26000 24000
2019 27000 18000 16000

Sub questions

Question Number : 1 Question Id : 61547512288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which college was the number of students admitted in the year 2016 second lowest and
the number of students admitted in the year 2018 minimum respectively?

(1) College C and College B (2) College B and College A
(3) College C and College A (4) College A and College B
Options:

61547547301, 1
E15475473902. 2
E15475473903. 3
51547547304, 4

Question Number : 2 Question Id : 61547512289 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the approximate percent (%) increase in the number of students admitted in college
A 1n the vear 2016 as compared to previous yvear?

(1) 23 % (2) 123 %
(3) 113 % (4) 13 %
Options:

E15475473905. 1
61547547306, 2
61547547307, 3
61547547308, 4

Question Number : 3 Question Id : 61547512290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1= the difference between the total number of students admitted 1n college A overall the

vears together and the total number of students admitted 1n college C 1n the vear 2018 and
2019 together?

(1) 6400 (2) 62000
(3) 64000 (4) 61000
Options:

61547547305, 1
61547547310, 2
61547547311, 3
E15475473912. 4

Question Number : 4 Question Id : 61547512291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Total number of students admitted in college C over all the years was approximately what

percent (%) of total number of students admitted in all the three colleges together in the
year 20177

(1) 168% (2) 162%
(3) 158% (4 175%
Options:

B1547547913. 1
61547547914, 2
615475473915 3
61547547316, 4

Question Number : 5 Question Id : 61547512292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the average number of students admitted in college A in the year 2015. in college B
1n the vear 2016. and 1n college C 1n the yvear 2019 together?

(1) 18000 (2) 24000
(3) 17000 (4) 28000
Options:

B1547547917. 1
615475473918, 2
615475473915, 3
61547547320, 4

Question Id : 61547512287 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Question Label . Comprehension
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ai <7 A B C
2014 3000 14000 11000
2015 15000 17000 13000
2016 17000 23000 19000
2017 13000 27000 23000
2018 22000 26000 24000
2019 27000 18000 16000
Sub questions

Question Number : 1 Question Id : 61547512288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Fiers C 31 Fi=i7 B (2) Hicid B 3K Ficdd A
(3)  Fierd C HW Ferd A (4) Fietd A 3IF F9 B
Options:

515475473901, 1
61547547302 2
61547547303, 3
61547547304, 4

Question Number : 2 Question Id : 61547512289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) 23% 2) 123 %
(3) 113 % 4 13%
Options:

61547547305, 1
61547547306, 2
61547547307, 3
E1547547308. 4

Question Number : 3 Question Id : 61547512290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 6400 (2) 62000
(3) 64000 (4) 61000
Options:

61547547305, 1
61547547310, 2
61547547311, 3
E15475473912. 4

Question Number : 4 Question Id : 61547512291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 168% (2) 162%
(3) 158% (4) 175%
Options:

E1547547913. 1
B1547547914. 2
615475473915 3
61547547316, 4

Question Number : 5 Question Id : 61547512292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 18000 (2) 24000
(3) 17000 (4) 28000
Options:

615475473917, 1
E15475479158. 2
E15475479148. 3
B1547547920. 4

Sub-Section Number: 2
Sub-Section Id: 615475530
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 61547512293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following numbers would occur next in the series

2, 6, 30, 60, 130, 210 s

(1) 330 (2) 350
(3) 370 (4) 378
Options:

615475479211
61547547922 2
61547547922, 3
E1547547924. 4

Question Number : 6 Question Id : 61547512293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2, 6, 30, 60, 130, 210 ?

(1) 330 (2) 350

(3) 270 (4) 378
Options:

61547547921, 1
E1547547922. 2
B1547547923. 3
B1547547924. 4

Question Number : 7 Question Id : 61547512294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The compound interest on a certain sum of money for 3 years at the rate of 10% per annum is
Rs.993.00. The simple interest on the same sum at the rate of 8% per annum for 4 years

would be equal to which of the following?

(1) Rs. 900.00 (2) Rs. 930.00
(3) Rs. 960.00 (4) Rs.990.00
Options:

61547547925 1
E1547547926. 2
B1547547927. 3
B1547547928. 4

Question Number : 7 Question Id : 61547512294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(1) 900 =. (2) 930%.
(3) 960 %. 4) 9907%.
Options:

B1547547925. 1
61547547926, 2
B1547547927. 3
615475473928, 4

Question Number : 8 Question Id : 61547512295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pointing towards a man. a woman said, "His wife's father is the husband of my mother's only

daughter”. How is the woman related to the man?

(1) Daughter (2} Sister - in - law
(3) Sister {4) DMother - in - law
Options:

B1547547929. 1
61547547920, 2
61547547921, 3
61547547332, 4

Question Number : 8 Question Id : 61547512295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547547929 1
61547547330, 2
E1547547921. 3
E1547547932. 4

Question Number : 9 Question |d : 61547512296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If the word TEACHER is coded as TCJACCV and the word SURGEON is coded as
PMGETSU in a certain code language, then which of the following will represent the word
CONCORD in that language?

(1) FTQEPQE (2) EQPEQTF
(3) FPQAFPME (4) EMPAQFPF
Options:

61547547932 1
61547547934, 2
E1547547935. 3
E1547547936. 4

Question Number : 9 Question Id : 61547512296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afs TEACHER ¥sg 1 TCJACCV ¥ Feaig T mam & 3t SURGEON =i ffi wior % %2 &

PMGETSU =gl ST & o fA=fefaa 8 9 319 39 9191 % CONCORD =1 Ufaf=iees = ?

(1) FTQEPQE (2) EQPEQTF
(3) FPQAPME (4) EMPAQPF
Options:

51547547933, 1
615475473934, 2
61547547935, 3
E1547547936. 4

Question Number : 10 Question Id : 61547512297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A solid is in the form of a cylinder with hemispherical ends. The diameter of the cylinder is
1/3 of its height (excluding the hemispherical ends). The total length of the solid including

the hemispherical ends 1s 56 cm. What is the surface area of the solid?

(1) 3080 em? (2) 2464 cm?
(3) 2772 cm? 4) 2156 cm?
Options:

B1547547937. 1
61547547938, 2
61547547935, 3
61547547340, 4

Question Number : 10 Question Id : 61547512297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3080 = #H (2) 2464 31 T4l
(3) 27729 T (4) 2156 = TH
Options:

615475473957, 1
E1547547938. 2
B1547547939. 3
61547547940, 4

Question Number : 11 Question Id : 61547512298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the communication which 1s valid as documentary evidence from the following :

(1) Written Communication (2) Verbal Communication
(3) Gestural Communication (4) Non - verbal Communication
Options:

615475479411
61547547942 2
61547547343, 3
E1547547944, 4

Question Number : 11 Question Id : 61547512298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) T™&Rga 9918 (2) Tk HaTE

(3)  EE-WIE I HATg (4) FTIIEF TG
Options:
1547547941 1
1547547942 2
1547547942 2
1547547944 4

Question Number : 12 Question Id : 61547512299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following groups of electronic scientists has been given in an order

chronologically?

(1) Guglielmo (G.) Marconi, Lumiere Brothers, Lee forest, John Fleming and

John Logie Baird

(2) John Logie Baird, Lumiere Brothers, Guglielmo (G.) Marconi, Lee forest and

John Fleming

(3) Lee forest, John Fleming, Lumiere Brothers, Guglielmo (G.) Marconi and
John Logie Baird

(4) Lumiere Brothers, Guglielmo (G.) Marconi, Lee forest, John Fleming and

John Logie Baird
Options:
61547547945, 1

E1547547946. 2
B1547547947. 3
61547547948, 4

Question Number : 12 Question Id : 61547512299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547547945, 1
61547547346, 2
61547547347 o
1547547948 4

Question Number : 13 Question Id : 61547512300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following, first took the initiative for appointing a University Education

Commission during pre-independence period?

(1) Lord Curzon (2) Lord Ripon
(3) Lord Wellesley (4) Lord Bentick
Options:

615475479459 1
61547547350, 2
61547547351, 3
E1547547952. 4

Question Number : 13 Question Id : 61547512300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) = Foe (2) @S frA
(3) S Ao (4) e fafeam st
Options:

51547547949 1
61547547350, 2
615475473951, 3
61547547352, 4

Question Number : 14 Question Id : 61547512301 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following groups of commission on education has been given chronologically

in an order of year in which they were constituted?

(1) Kothari Commission, Mudaliar Commission, Radhakrishnan Commission
(2) Radhakrishnan Commission, Mudaliar Commission, Kothari Commission
(3) Mudaliar Commaission, Kothari Commission, Radhakrishnan Commission
(4) Radhakrishnan Commission, Kothari Commission, Mudaliar Commission
Options:

515475473953, 1
615475473954, 2
61547547355, 3
61547547356, 4

Question Number : 14 Question Id : 61547512301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547547953 1
E1547547354 2
61547547955, 5
61547547356 4

Question Number : 15 Question Id : 61547512302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is signified by the term ‘hetu’ in the process of anumana

(inference) in classical Indian School of Logic?

(1) Example Provided (2) Statement of reason
(3) Proposition to be proved (4) Conclusion Proved
Options:

615475473957, 1
615475473958, 2
61547547359, 3
E1547547360. 4

Question Number : 15 Question Id : 61547512302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) LS R (2) =HET F HEH
(3)  Tag # = w=w (4) Tag o
Options:

61547547357, 1
E1547547958. 2
51547547959, 3



E15475473960. 4

Question Number : 16 Question Id : 61547512303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assumption of an unperceived fact in order to reconcile two apparently inconsistent perceived
facts 18 known in Indian Logic as :

(1) Anumana (Inference) (2) Upamana (Comparison)
(3) Arthapatti (Implication) (4) Anupalabdhi (Non-apprehension)
Options:

E15475478961. 1
E1547547962. 2
B1547547963. 3
61547547964, 4

Question Number : 16 Question Id : 61547512303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) A (2) 3JuHH
(3) = (4) TR
Options:

E15475473961. 1
61547547362, 2
E1547547963. 3
B1547547964. 4

Question Number : 17 Question Id : 61547512304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following combination of propositions is considered to be contraries in the
classical square of opposition?

(1) Universal affirmative and universal negative

(2) Universal affirmative and particular affirmative

(3) Particular affirmative and universal negative

4) Particular affirmative and particular negative
Options:

E15475473965. 1
E1547547966. 2
B1547547367. 3
61547547365, 4

Question Number : 17 Question Id : 61547512304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

61547547965, 1
61547547966, 2
61547547367, 2
61547547368, 4

Question Number : 18 Question Id : 61547512305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following i1s not a part of immediate deductive inference?

(1) Conversion (2) Obversion
(3) Syvllogism (4) Contraposition
Options:

61547547369, 1
E1547547970. 2
E1547547971. 3
B1547547972. 4

Question Number : 18 Question Id : 61547512305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  aRada (2) wfdaaa

"

(3)  HAEETH (4) HfguiEda
Options:
615475473693 1
61547547970, 2
61547547971 2
61547547372, 4

Question Number : 19 Question Id : 61547512306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following factors does not contribute to learning mathematical concepts
(1) Real life events

(2) Assessing the existing mathematical knowledge of the learner before deciding

the syllabi

(3) Teaching mathematics and history together
(4) Narrating the life experiences of the mathematician who has given the concept
Options:

61547547973 1
E1547547974. 2
E1547547975. 3
B1547547976. 4

Question Number : 19 Question Id : 61547512306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4)  STIUTON * TIAIIEF TS F SEH STHHET T TN
Options:
61547547373 1
61547547974 2
61547547975 3
E1547547976. 4

Question Number : 20 Question Id : 61547512307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following 1s NOT an alternative to traditional assessments?

(1) Multiple Choice Questions (2) Performance Test
(3) Portfolios (4) Exhibitions
Options:

615475479771
61547547978, 2
61547547979, 3
61547547380, 4

Question Number : 20 Question Id : 61547512307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547547977. 1
E1547547978. 2
B15475479739. 3
51547547980, 4

Question Number : 21 Question Id : 61547512308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A college teacher conducts a quiz session with a view to accelerate the tempo of motivational
participation. This will form part of which type of evaluation?

(1) Summative evaluation (2) Criterion based evaluation
(3) Formative evaluation (4) Diagnostic evaluation
Options:

61547547981, 1
61547547982, 2
61547547952, 3
E1547547984. 4

Question Number : 21 Question Id : 61547512308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547547981, 1
61547547982, 2
61547547952, 3
E1547547984. 4

Question Number : 22 Question Id : 61547512309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following 1s NOT the principle associated with Positivism?
(1) Phenomenalhism (2) Deductivism

(3) Inductivism (4) Interpretivism



Options:

61547547985, 1
61547547986 2
E1547547387. 2
61547547988, 4

Question Number : 22 Question Id : 61547512309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547547985, 1
61547547986, 2
61547547357, 3
61547547388, 4

Question Number : 23 Question Id : 61547512310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In grounded theory, researchers collect data using theoretical sampling until theoretical

saturation is achieved. This process can be summarized in the following sequence.

(1) Sample theoretically decided —» Collect data — Analyse data — Theoretical

Saturation

(2) General research question — Collect data — Sample theoretically decided — Analyse

data — Theoretical Saturation

(3) Sample theoretically decided — General research question — Collect data —

Theoretical Saturation

(4) General research question — Sample theoretically decided — Collect data —

Analyse data — Theoretical Saturation
Options:
E1547547359. 1
E1547547330 2
615475479591 =
61547547992 4

Question Number : 23 Question Id : 61547512310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475479589, 1
61547547330 2
615475479391, 2
61547547992, 4

Question Number : 24 Question Id : 61547512311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ways that would be followed by a public sector organization to communicate with
public by organizing an open house :

(a) Publicity

(b) Lobbying

(c) Public relations

(d) Image building

Choose the correct option :

(1) (a), (c) and (d)
(2)  (b). (c) and (d)
(3)  (a), (b) and (d)

(4 (a), (b)and (c)
Options:

61547547992 1
61547547954 2
61547547335, 3
615475473396, 4

Question Number : 24 Question Id : 61547512311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(2)  (b), (c) R (d)
(3)  (a), (b) 3 ()

4)  (a), (b) F (c)
Options:

1547547993 1
1547547994 2
15475474995 =
1547547996 4

Question Number : 25 Question Id : 61547512312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the institutions which are not authorized to confer degree according to UGC Act

1956:

(a) Institutions established under linguistic minority
(b) Deemed to be Universities
(c) Constituent Colleges

(d) Affiliated Colleges

Choose the correct option :

(1) (a), (b) and (d) only
(2) (a), (b) and (c) only
(3) (b), (¢) and (d) only

(4) (a), (c) and (d) only
Options:

1547547997 1
E1547547998. 2
E1547547999 2
C1547545000, 4

Question Number : 25 Question Id : 61547512312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a), (b) 3R (d) Fa=
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(3)  (b), (c) 3R (d) FaA

4)  (a), (c) 3R (d)
Options:
51547547997, 1
61547547998, 2
51547547999, 3
£1547548000. 4

Question Number : 26 Question Id : 61547512313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements is/are correct in the context of ‘Digital India’ Initiative of
Government of India?

(a) National Digital Library of India (NDL India) is a 24 x 7 online store house of all
academic awards duly digitized and lodged by academic institutions.

(b) National Academic Depository (NAD) is an all — digital library that stores information
(metadata) about different types of digital contents relevant to the citizens.

Choose the correct option :

(1) (a) only (2) (b) only
(3) Both (a) and (b) (4) Neither (a) nor (b)
Options:

E1547548001. 1
51547548002, 2
51547548003, 3
61547545004, 4



Question Number : 26 Question Id : 61547512313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) Fae (a) (2) I (b)
(3)  (a) 3 (b) 3HI (4) T4 (a) AXFF (b)
Options:

E1547548001. 1
E1547548002. 2
51547548003, 3
61547545004, 4

Question Number : 27 Question Id : 61547512314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which of the following statements is / are correct?

(a) WWW is a network of networks that first started with four computer nodes.

(b) WWW 1s a service that runs on the Internet.

Choose the correct option:

(1) (=2)only (2) (b) only
(3) Both (a) and (b) (4) Neither (a) nor (b)
Options:

E1547548005. 1
E1547548006. 2
51547548007, 3
51547548008, 4

Question Number : 27 Question Id : 61547512314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547548005. 1
E1547548006. 2
51547548007, 3
61547545008, 4

Question Number : 28 Question Id : 61547512315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Academic performance of students is determined by :

a) Intelligence

b) Motivation

(

(

(c) Physique
(d) Gender

(

1) (a) and (b) only (2) (a)and (d) only
3) (b) and (c) only (4) (c) and (d) only
Options:

51547548009, 1
61547548010, 2
615475458011, 3
6154754501Z2. 4

Question Number : 28 Question Id : 61547512315 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547545009, 1
61547548010, 2
61547545011, =
E1547548012. 4

Question Number : 29 Question Id : 61547512316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Spread of forest fires is influenced by

(a) Slope
(b) Soil Moisture
(c) Wind

Choose the correct answer from the options given below:

(1) (a) and (b) only (2) (b) and (¢) only
(3) (a) and (c) only (4) (a), (b) and (c)
Options:

E1547548013. 1
61547548014, 2
61547545015, 3
61547548016, 4

Question Number : 29 Question Id : 61547512316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547548013, 1
61547548014 2
615475438015 =2
61547548016 4

Question Number : 30 Question Id : 61547512317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given below 1s guestion (Q) followed by three statements. Identify the statements (a. b. ¢)

that are necessary to answer the question.

Question : What 1s the average age of 30 students studving in a class?

(a) Boys and girls in the class are in the ratio 7:8
{(b) The average age of boyvs and girls 1z 12.2 vears and 11.4 vears. respectively.
(c) The number of bovs 1n the class 1s two less than the number of the girls in the class.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (b) and either (a) or (c)
Options:
615475450171
1547548018 2
E1547545019 2
61547548020 4



Question Number : 30 Question Id : 61547512317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) =39 (a) 31 (b)
(2)  #Fad (b) 3 (c)
(3) A (a) AKX (c)

4) (b)) 3T (a) T (o)
Options:
C1547548017. 1
L1547548018. 2
L15475480149 =
1547548020 4

Question Number : 31 Question Id : 61547512318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following statements with reference to categorical propositions :

(a) “Some birds are mammals” is a particular

subject term alone.

(b) “Some birds are mammals” is a particular

predicate term alone.

(c) “Some birds are mammals” is a particular

both subject and predicate terms.

(d) “Some birds are mammals” is a particular

neither subject term nor predicate term.

Choose the correct option from below :

(1) Only (a) and (d) are correct
(2) Only (c) and (d) are correct
(3) Only (b) 1s correct

(4) Only (d) is correct
Options:

E1547545021. 1
61547548022 2
61547548023 3
1547548024 4

affirmative proposition and it distributes

affirmative proposition and it distributes

affirmative proposition and it distributes

affirmative proposition and it distributes

Question Number : 31 Question Id : 61547512318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:
615475480211
61547548022 2
61547548023, 3
61547543024, 4

Question Number : 32 Question Id : 61547512319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In a group setting which of the following factors hinder creativity of its members?

(a) Norm to maintain consensus at any cost

(b) To think without any fear of being ridiculed
(c) To respect one another’s ideas

(d) To criticize if somebody’s idea 1s not correct

Choose the correct option :

(1) (a) and (c) only (2) (b) and (d) only
(3) (c) and (b) only (4) (d) and (a) only
Options:

51547548025, 1
61547548026, 2
61547545027, 3
E1547548025. 4

Question Number : 32 Question Id : 61547512319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(3) A (c) AR (b) (4) =Faa (d) FR (a)
Options:

E1547548025. 1
61547548026, 2
G15475458027. 3
61547548028, 4

Question Number : 33 Question Id : 61547512320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which two among the following factors are responsible for transgression of ethical principle
in research?

(a) Harm to the participants
(b) Lack of informed consent
(c) Not greeting the participants after the experiment is over

(d) Asking difficult questions

Choose the correct option :

(1) (a) and (c) only (2) (b) and (c) only
(3) (a) and (d) only (4) (a) and (b) only
Options:

E1547548029. 1
51547548030, 2
51547548021, 3
61547548032, 4

Question Number : 33 Question Id : 61547512320 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
1547545029 1

E1547548030. 2
51547548021, 3
51547548032, 4

Question Number : 34 Question Id : 61547512321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following activities are performed by the researcher in an ethnographic

research?

(a) Conducts structured interview with the members of the community
(b) Gets immersed 1n a social setting for an extended period of time

(c) Listens to and engages in conversation

(d) Tries to educate people about the harms of some evil practices

Choose the correct answer :

(1)  (a) and (b) only
(2) (a) and (c) only
(3) (b) and (d) only

(4) (b) and (c) only

Options:
61547545053 1
61547548024, 2



E1547548035. 3
51547548036, 4

Question Number : 34 Question Id : 61547512321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) =9 (a) 3T (b)
(2) A (a) 3 (o)
(3)  =hHad (b) IR (d)

(4)  FF9 (b) N (o)
Options:
61547548033, 1
61547545024, 2
61547548035 5
61547548036, 4

Question Number : 35 Question Id : 61547512322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match correctly the items of column I with the items of column II

(a)
(b)
(c)
(d)
(1)
(2)
(3)
4)

Options:

Column I
Dyslexia
Dysgraphia
Dyscalculia
ADHD
(a)-(), (b)-(i11), (c)-(iv), (d)-(1)
(a)-(i1), (b)-(111), (c)-(1), (d)-(iv)
(a)-(iv), (b)-(1). (c)-(ii1), (d)-(i1)
(a)-(), (b)-(v), (c)-(11), (d)-(111)

E1547548037. 1
E15475480238. 2
E1547548039. 3
51547545040, 4

(1)
(11)
(111)

(1v)

Column II
Difficulty in doing mathematics
Difficulty in reading
Difficulty in writing

Difficulty in concentrating

Question Number : 35 Question Id : 61547512322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1), (b)-(111), (¢)-(iv), (d)-(i1)
(2) (a)-(11), (b)-(111), (¢)-(1), (d)-(1v)
(3) (a)-(v), (b)-(1), (¢)-(ii1), (d)-(11)

(4) (a)-(1), (b)-(iv), (¢)-(11), (d)-(i1)
Options:
615475450571
61547548028, 2
61547548029, 5
61547548040, 4

Question Number : 36 Question Id : 61547512323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the following communication channels with their distinguishing type :

(Communication Channel) (Distinguishing Type)
(a) Blogging (1)  Electronic Media
(b) Television (11) Print Media
(c) Periodicals (111) Social Media
(d) Collection sites (1v) World wide web

Choose the correct option from those given below :

(1) (a)-v), (b)-(i1), (c)-(1), (d)-(i11)
(2) (a)-(11), (b)-(@v), (c)-(11), (d)-@)
(3) (a)-(1), (b)-(a11), (c)-(v), (d)-(11)
(4) (a)-(i11), (b)-(1), (¢)-(1), (d)-(iv)

Options:

61547548041,
61547548042,
£1547543043,
£1547543044,

[ N

Question Number : 36 Question Id : 61547512323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (2)-(1v), (b)-(1), (0)-(1), (d)-(111)
(2) (a)-(11), (b)-(av), (¢)-(11), (d)-(1)
(3) (a)-(1), (b)-(111), (c)-(1v), (d)-(11)

(4) (a)-(111), (b)-(1), (0)-(1), (d)-(v)
Options:
615475480411
61547548042 2
61547548042 3
615475438044 4

EATARgd TR T ol eh! TI919al o STTUT T JHTeTd shitad

(1) T =i
Gi) Toe Hifs=
(iil) HToTe HfEa

{i‘f) ﬂrf@ﬁ EIQE %ﬁ
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Single Line Question Option : No Option Orientation : Vertical
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Match the following classes of chemicals with their deseriptions :

(a)
(b)

(c)

(d)

{Chemical Class)

Allergens
Mutagens

Carcinogens

Teratogens

(1)

(11)

(iii)

(iv)

{(Description)

Chemicals that alter or damage the
genetic material (DNA) cells

Substances that activate the immune
svstem

Chemicals that specifically cause
abnormalities during embrvonics
growth and development.

Substances that cause invasive out of
control cell growth resulting in
malignant tumors.

Choose the most appropriate option from those given below :

(1)
(2)
(3)
(4)

Options:

(a)-(iid). (b)-(iv). {e)-(1), (d)-(ii)
(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(a)-(id). (b)-(1). (e)-(1v), (d)-(iii)
(a)-(ii1). (B)-(2). (e)-(i1). (d)-(iv)

51547548045, 1
61547548046, 2
61547545047, 3
E1547548045. 4

Question Number : 37 Question Id : 61547512324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)
(2)
(3)
(4)

(a)-(1m1). (b)-(1v). (c)-(1). (d)-(11)
(a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(a)-(11). (b)-(1). (¢)-(1v). (d)-(111)
(a)-(111). (b)-(1). {e)-(1). (d)-(1v)



Options:

51547548045, 1
61547548046, 2
61547545047, 3
E1547548045. 4

Question Number : 38 Question Id : 61547512325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List — I with List — 11

(a)
(b)
(c)
(d)

List I
50 in decimal
102 in decimal
Real — Time video conferencing

SMS texting

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-(11), (b)-(1), (c)-(111), (d)-(av)
(a)-(1), (b)-(), (c)-(v), (d)-(i11)
(a)-(2), (b)-(a1), (c)-(111), (d)-(1v)
(a)-(1), (b)-(i1), (c)-(1v), (d)-(ii1)

£15475458049. 1
E1547548050. 2
E1547548051. 3
E1547548052. 4

®)
(11)
(111)

(1v)

List 1T
0110010 in binary
1100110 in binary
Synchronous communication

Asynchronous communication

Question Number : 38 Question Id : 61547512325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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(1) (a)-(1), (b)-(2), (c)-(11), (d)-(iv)
(2) (a)-(), (b)-(), (c)-v), (d)-(111)
(3) (a)-(1), (b)-(11), (c)-(i11), (d)-(iv)
(4) (a)-(1), (b)-(11), (¢)-(1v), (d)-(111)

Options:

615475438049, 1
E1547548050 2
61547545051, 5
61547548052, 4
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Match correctly the contribution / conecept of Column II with the names of the thinkers given

1n Column I

(a)
(b)
(c)

(d)

Column I
Karl Popper
T.5. Kuhn

Paul Feverabend

Francis Bacon

Select appropriate option:

(1)
(2)
(3)
(4)

Options:

(a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(a)-(111). (b)-(1). (e)-(1v). (d)-(11)
(a)-(1v). (b)-(111). (c)-(12). (d)-(1)

(a)-(v), (b)-(m1). (c)-(1). (d)-(11)

61547548053, 1
51547548054, 2
615475458055, 3
61547545056, 4

(1)
(11)
(111)

(1v)

Column IT
Inductive method
Against the method
Paradigm

Falsification

Question Number : 39 Question Id : 61547512326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Y [ 9 {50 T IFeH /a0 & @9 [ 1 sfeafad =al & g gafad Fiie

=y - 1 e - 11
(a) I TR (i) AT Wity
(b) 21 TH. FA (i) fafa % wfaeg
(c) Hid FEES (i) EqTEet
(d) s (iv) Tz

(1) {a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(2) (a)-(111). (b)-(1). (c)-(1v). (d)-(11)
(3) (a)-(1v). (b)-(111). (c)-(11), (d)-(1)

(4) (a)-(1v). (b)-(111). (e)-(1). (d)-(12)

Options:

51547548053, 1
61547548054, 2
61547548055 =
61547548056, 4

Question Number : 40 Question Id : 61547512327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following types of communication with their distinguishing examples

(Types of Communication)

(a) Formal Communication (1)

(b) Informal Communication (11)
(¢) Outward Communication (111)
(d) Inward Communication (1v)

Choose the correct option from those given below :

(1) (a)-(111), (b)-(1v), (¢)-(1), (d)-(11)
(2) (a)-(11), (b)-(i11), (¢)-(iv), (d)-(1)
(3) (a)-(1), (b)-(11), (¢)-(111), (d)-(1v)
(4) (a)-(1v), (b)-@), (c)-(11), (d)-(ii1)

Options:

61547548057, 1
615475438058, 2
61547548059 2
61547545060, 4

Distinguishing Example)
Government agencies
Circular
Memos

Group chain

Question Number : 40 Question Id : 61547512327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



TIRad JhH o H=R 1 396 (999 ISTE0T o STTHR A iU

(FTHT = TFR) (fafere 3gTewon)
(a) SITETGR F91 (i) TN Ul
(b)  ITHITEIN R (i) TRTF
(c) &l HER (i) I
(d) ST T=R (iv) FEgaEe
fafRad § 9 981 foereT =1 =399 T

(1 (a)-@11), (b)-(iv), (e)-1), (d)-(1)
(2) (a)-(11), (b)-(il), (c)-(iv), (d)-@1)
(3) (a)-(1), (b)-(11), (c)-(1i1), (d)-(1v)
(4) (a)-(1v), (b)-(1), (c)-(11), (d)-(111)

Options:

154754580571

E1E47E4R0EE. 2

61547545059, 3
E1547548060. 4

Question Number : 41 Question Id : 61547512328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that contains only optical storage media

(1) USB memory stick, Blu — Ray disk, CD — ROM, DVD
(2) DVD, CD — ROM, USB memory stick, CD — RW

(3) Hard disk, USB memory stick, CD — ROM, DVD

(4) DVD, CD — R, Blu — Ray Disk, CD — RW

Options:
61547548061, 1
615475480682 2



E1547548063. 3
61547548064, 4

Question Number : 41 Question Id : 61547512328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HArad § ¥ 39 T9hed &l g4 Toed &% Aifeha TS JIsaT IHa 8 7

- [

(1) g u& & 594 T, =q-1 fov, & S-19, ST

)

(2) S EN, = E-1W, g uH o " e, 91 31 - N g5y

[a)

(3)  FTE 5%, g vH & AWdl feosh, o Ei-1w, o A o
(4) S, A OS AR, -1 TSER, | ¥ - R Ty

Options:

61547548061, 1
61547548062, 2
61547548063 =
61547548064, 4

Question Number : 42 Question Id : 61547512329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Noise levels at a traffic site are recorded for one hour at a sampling interval of 1 second and
percentile indices of noise Li, Lio, Lso, Lo are computed from the data. The indices are then
arranged in increasing order in terms of their values starting from minimum to maximum.

Which of the following options represents their correct order?

(1) L1, Lo, Lso, Loo
(2) Lo, Liso, Lo, La
(3) Liso, Lso, Lio, La

(4) Lao, Liso, Lo, La
Options:

61547548065 1
61547548066, 2
1547548067 2
1547545068, 4

Question Number : 42 Question Id : 61547512329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T =#T% L. Lio, Lso. Leo =it TToMHT 3 FT: o &l T2 | H;:l'—hl'—i':i %+ OF i —AdH o wfaFaq F sed F9 O
TG T B | 599 W I H1 Ao Hel %H I GO0 E 7

(1) La. Lao. Liso. Lao
(2) Lio. Lso. Leo. L1
(3) Lso. Leo. Lio. Lt
(4) Loo. Lso. Lao. L1

Options:

615475438065, 1
61547548066, 2
61547548067, =
61547548068, 4

Question Number : 43 Question Id : 61547512330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one labelled as Assertion (A) and the other labelled as

Reason (R).

Assertion (A) :  In the afternoon of a hot sunny day during the summer season, the
tropospheric ozone levels in a city like Delhi are expected to be lower as

compared to morning and evening.

Reasons (R) : In the afternoon period, atmosphere i1s unstable and its dilution potential

is higher as compared to mornings and evenings.
In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanationof (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
1547545089 1
1547545070 2
1547545071 2
1547545072 4

Question Number : 43 Question Id : 61547512330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e =1 FeE 5 T E, TEen wu STaEeE (A) 377 @ (R) F
AfTFE (A) T I 2 e B e 1 B B | B ool e = e e ot M = - 1
Helid AT T gue AR o F1 o H FH 26 I a9E w6l 2

T (R) : =Mt W17 i IEg J 9 qvsy A A § 99 guE AR F g § 3Hh

TTET 3 FEA F A A AE EEeT S

(1)  (A) 3R (R) = F=#1 & 31T (R) (A) = 521 =71 2|
(2)  (A) 3R (R) 3F T 7 Td (R) (A) F T2 = T64 2 |
(3) (A wE = Mg (R) ™1 & |

(4) (A) =T 2 T (R) ®71 7 |
Options:
61547548069, 1
61547548070 2
615475438071, 2
E1547545072. 4

Question Number : 44 Question Id : 61547512331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Given below are two statements — one labelled as Assertion (A) and the other labelled as

Eeaszon (R).

Assertion (A):  Information Technology 1= fast becoming a verv important field of activity
1n India.

Reasons (R) : Software 1z one of the major exports of India and further India has a very

strong base in hardware.

In the hight of the above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 15 true. but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:

£1547548073. 1
E1547548074 2
61547548075, o
61547548076, 4

Question Number : 44 Question Id : 61547512331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= 21 YA U U B w A SIhTRYR (A) 3R @R R @ (R) FET A

FAfTR (A) A1 TEiTeh! WHa § o9 § UF 3709d Hecaqol & §=dl o W |
TF (R) : HFeaaE HRA o T9@ HIE § | UF 2 30 3HF FAAE] UG 1 BeddL § FHIh] HEd
MG 2 |

ITFA S FUAT F SR H Tal ahed 91 ¢

(1) (A 3R (R) 21 581 2 311 (R) (A) Tl Tl =31 2 |
(2)  (A) W (R) =EI #& & 31 (R) (A) F1 51 =031 746 2 |
B) (A)FE R R) TR AR &

4) (A= TR 2 R (R)FE R
Options:
6154754807 3.
6154754807 4.
61547548075,
£1547548076.

o LI M

Question Number : 45 Question Id : 61547512332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labelled as Assertion (A) and the other labelled as

Reason (R).

Assertion (A):  The Governor has the power to ask for any information from the Chief
Minister regarding the administration of the State.

Reaszons (R) : The Governor 1s the real Head of the State administration.

In the context of the above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 18 true. but (R) 1s false

(4) (A) 1s false. but (R) 1s true
Options:
1547548077, 1
1547548075 2
61547548079 3
61547548050 4

Question Number : 45 Question Id : 61547512332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S 31 9F 130 MU 7 TEe ST (A) 3R g @ (R) #

AR (A) - TSI 1 59 F TOMEA & o1 H qeaas] | o °f TR & J=a1 914 & o1f3q 2 |

TF (R) : T =9 J9THE 1 Idias T99 # |

ITFd € FHIA K TET G, HET [T H =TI I,

(1) (A AR (R) TF 9&1 & 3R (A) il ¥&1 =3re (R) 2 |
(2) (AR (R) TE @ B g, (R) (A) 1 581 = 74 2 |
(3) (A)TEE, TRg (R) T4 2 |

4) (A T4 &, fFg (R) 581 7 |

Options:

61547548077, 1
61547548078 2
1547548079 2
615475450380, 4

Sub-Section Number: 3
Sub-Section 1d: 615475531
Question Shuffling Allowed : Yes

Question Id : 61547512333 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehiension

Read the following passage and answer gquestions which follow.

I do not wish to suggest that the humanistic elements 1in education are less important than
the utilitarian elements. To know something of great hiterature. something of world history
something of music and painting and architecture. 1s essential if the Iife of imagination 1s to
be fully developed. And 1t 1s only through imagination that men become aware of what the
world might be: without it. ‘progress’ would become mechanical and trivial. But science. also
can stimulate the imagination.

Psychology was until fairly lately. a merely academic study. with very little application to
practical affairs. This 1= all changed now. We have. for instance. industrial psychology.
clinical psvchology. educational psychology: all of which are of the great practical
1mportance. We mayv hope and expect that the influence of psychology upon our Institutions
will rapidly increase 1n the near future. In education. at any rate. 1ts effect has already been
great and beneficent.



Sub questions

Question Number : 46 Question Id : 61547512334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
As per the passage, people become aware of “What the world might be?” only through

(1) Literatue (2) History
(3) Imagination (4) DMusic
Options:

E1547548081. 1
61547548082, 2
51547548083, 3
61547545054, 4

Question Number : 47 Question Id : 61547512335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

As per the passage, without imagination the ‘progress’ would become

(1) Humanastic (2) Mechanical
(3) Creative (4) Realistic
Options:

51547548085, 1
61547548086, 2
61547548087, 3
615475480558, 4

Question Number : 48 Question Id : 61547512336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the passage psychology until recently was of very little

(1) Academic orientation. (2) Application in academics
(3) Application to practical affairs (4) Application to imagination
Options:

E1547548089. 1
515475480350, 2
515475480381, 3
61547545032, 4

Question Number : 49 Question Id : 61547512337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the passage, the author is optimistic about

(1) The utilitarian elements in education

(2) Decrease in the role of imagination in education

(3) The role of psychology in laboratories

(4) Increase in the influence of psychology upon institutions.
Options:

6154754380392, 1
E15475480384. 2
E15475480385. 3
515475480396, 4

Question Number : 50 Question Id : 61547512338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

As per the passage, if the life of imagination is to be fully developed, some exposure to the
following is required :

(a) Literature (b) World history
(c) Music (d) Politics.

Choose the correct options from these given below :

(1) Only (a) and (b) (2) Only (a) and (c)
(3) Only (a), (b) and (d) (4) Only (a), (b) and (c¢)
Options:

615475430397, 1
E15475480385. 2
E1547548095. 3
51547545100, 4

Question Id : 61547512333 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension

feftag o=z F1 92 317 getad 7e F 5o T

ﬂTﬁWWWﬁ?WHWWWWHHW |7r——rqqrrﬁHanw
faFm F fou Arsr-9gd 92 AfEca, TS-9gd AvaF sfaem AR AEr-ugd @iE, e 3 argE
T:ﬁns:rh-mﬂﬂhﬁwmmmﬁﬂ?rrﬁzmyﬁmﬂwwmqwmmTwnw
=T ; =% T R A S EhEe 5 A | S A s Fe SR  w 2
IFIT&FIFI EF'H"'IFF'-EEJ"SITF!T HES STRGEE SR B TE YA g Al o 311T Gﬂilqulﬂ-h F1 o
gaw i'ulﬁll‘!rll THEE 4| A8 T =9 A5 kDl 2| ?J?Tﬂn—.n—q Wa FOR UE SEiTE g 2,
TETHF TAETA 2, N TAMESE 2 30 3 O6 F T SEEieE 950 2 | BY 98 AT SN U 91
Wéf‘ﬁl-ih:imqwﬂHHHHTJHTHWTI’JWdIHHMGHI|diH|Tc‘1?l'HFIT"H'-F[TFF=Tﬂ
el I a7==1 99E = 2 |

Sub questions




Question Number : 46 Question Id : 61547512334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ii=Rg o STER S 1 EHAR S BEEAIe o 91 # e R meem | SIEant e et 27

(1)  =ifEe (2) sfaEm
(3)  TFoeuAT-ITiEd (4) =AM
Options:

51547548081, 1
61547548082, 2
61547548083, 3
61547545054, 4

Question Number : 47 Question Id : 61547512335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

INTRE  ITIAR FOHI-I19d o IHE H WG 341 & a-rrm-r_f 7
(1)  AFgaEm] (2) =it

r

(3) SEEIRE? (4) IJLITh
Options:
E15475430855. 1
E1547548086. 2
E1547548057. 3
61547548085 4

Question Number : 48 Question Id : 61547512336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TN=RE o STIHR 50 71 & JU1 aF FAIGE 1/ 95 & FH

(1) FRGHF IR 97 | (2) TRIEHE SIEM 97|
(3)  =HTEETER SUFET of | (4) THeUET TG foTU SU=ET of |
Options:

61547548059, 1
E15475480380. 2
51547548091, 3
51547548082, 4

Question Number : 49 Question Id : 61547512337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



TeRe ° i@ g a1 i o STt 8
(1)  Toregor § SoaifamEne: e

(2) e & wHowifTa it qfew § B
(3) SETTEATAT H FATIRH 6l e

(4)  HEYHI § HAMGTE & 999 | SAHgig

Options:

61547548093, 1
61547548094, 2
61547548095 =2
1547548096, 4

Question Number : 50 Question Id : 61547512338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ti=wg * IGER G FHoul TEa w1 T ™ FA B a1 Hefaigd § § e 9ier-9ga 39 B2
7

(a)  ®EE (b) o sfoem

(c) =M@ (d) Tl

(1) a9 (a) 7 (b) W& & (2) Ed (a) 3 (o) TEI B
(3) = (a), (b) W (d) FET & (4) 99 (a), (b) 3 (c) Tl &
Options:

E1547548087. 1
E15475480398. 2
515475480845, 3
61547545100, 4

FAET II Hindi

Section Id : 615475164

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section 1d: 615475532



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 61547512339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T @ 5, 7 T 3
STETE T e - ' —
ST Y TR 77

(1) T fem = (2) 9Fag EwEs
(3) TS AEHOITHE (4) = frmEs

Options:

61547548101, 1
E1547548102. 2
61547548102, 5
61547545104, 4

Question Number : 51 Question Id : 61547512339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T @ fe=l, 7 @™ 35

EEI IR B ) o

(1) T fen = (2) 9EAwg EwEs
(3) TS wAEHUIHE (4) < fTrEEe

Options:

61547548101, 1
E1547548102. 2
61547545102, 5
61547545104, 4

Question Number : 52 Question Id : 61547512340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fefetaa 3 o FH-H1 Sret Jfvedt a6 78 27

(1) (2) e
(3) STSHTAT (4) TR
Options:

61547545105, 1
E1547548108. 2
E1547548107. 3
51547548108, 4

Question Number : 52 Question Id : 61547512340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=tatEd 8 | -5 aret ufv=dT g1 i 781 27

(1) el (2) daeh
(3)  FSET (4) TTE
Options:

E1547548105. 1
51547548106, 2
615475458107, 3
61547545108, 4

Question Number : 53 Question Id : 61547512341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

&1 7 T=fera Tawier e 9o =1 e 2 7
1 == (2)

~

(3) AT (4) T

Options:



E1547548109. 1
615475458110, 2
615475458111, =
61547545112 4

Question Number : 53 Question Id : 61547512341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

&=t o wefora Tawiier frg amar =51 o 27

(1) == (2) B

~

(3) 3T (4) Tl

Options:
61547545109 1

E1547548110. 2
E15475458111. 2
61547548112 4

Question Number : 54 Question Id : 61547512342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T SIS FAAE % E ' W IH T A o TR g Ies S WY TR BT 2, S99 FEd 8 7

(1)  foFd o= (2) TE
(3)  HERIEEE (4) Torafemraer
Options:

6154754581121
E1547548114. 2
E1547548115. 3
615475458116, 4

Question Number : 54 Question Id : 61547512342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



= [l

T FUET TIAE * E T W TR TR A o R g5 IR o WY U B 8, 35 991 FEd 8 7

(1) o o3 (2) HE
(3)  EEEUHEE (4) Torafemrae
Options:

515475481121
615475458114, 2
61547545115, 3
E1547548116. 4

Question Number : 55 Question Id : 61547512343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

| W W qeT 3239 & TR mmmm i gty w0 — 97 e uew o g 20

(1)  =g® ad 2) Tay T
(3)  HTERE I (4) IETFALE T
Options:

615475458117, 1
E15475481158. 2
515475458119, 3
61547548120, 4

Question Number : 55 Question Id : 61547512343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

7| W 1 qeT 3239 B TR =R A ghg v — 9% O Uen o A 27

(1) T A (2) oy g
(3)  HTEWE T (4) IEvITLF 9T
Options:

B1547548117. 1
615475458118, 2
61547545119, 3
61547545120, 4



Question Number : 56 Question Id : 61547512344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IR FaaH & 59 I9=8 F FI9N S=aY AEed gl 39 AEed ¥ e FEanedl dAUst 9mr |
e ﬁ?

(1)  3T=Rg 343 (2) SAT=RT 344
(3) =T 346 (4) =g 348
Options:

615475458121, 1
E1547548122. 2
E1547548123. 3
61547548124, 4

Question Number : 56 Question Id : 61547512344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IS BiaaH & 59 d9=8t & FI9N I=q9 e a9 39 A § "9 FEaed] SS9 |
e ﬁ?

(1)  3T=R% 343 (2) ARG 344
(3) =T 346 (4) =7 348
Options:

615475458121, 1
E1547548122. 2
E1547548123. 3
61547548124, 4

Question Number : 57 Question Id : 61547512345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘sl Temdl a9 U € =gtk forgan 97 — 98 FYH Tohe st J fhas 9 | we 9r?
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TGl & gmafag e IFe % -9 FYT T8 27

(a) TFEW H A FEEEAE H TEa g

(b) Ty g it T ® TE e 2

(c) 51 1 HIEc I[g |ecd & A= 981 7T 2
(d)  THg &t A=l "reRlaw T8 2

H=ifeiad 5 9 98] faee =My
9

(1) (a) 3 ()
(2)  (a) 3 (b)
(3)  (b) 3 (o)
4 (o) 3R ()

Options:

61547548297, 1
61547548298 2
E1547545299 2
61547548200 4

Question Number : 100 Question Id : 61547512388 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TGl & gmafag e IFe % -9 FYT T8 27

(a) TFEW H A FEEEAE H TEa g

(b) Ty g it T ® TE e 2

(c) 51 1 HIEc I[g |ecd & A= 981 7T 2
(d)  THg &t A=l "reRlaw T8 2

H=ifeiad 5 9 98] faee =My
9

(1) (a) 3 ()
(2)  (a) 3 (b)
(3)  (b) 3 (o)
4 (o) 3R ()

Options:

61547548297, 1
61547548298 2
E1547545299 2
61547548200 4

Question Number : 101 Question Id : 61547512389 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(d)  sfogdTeRE

fatetaa 8 9 98 fae T

(1)  (a) 3 (c)
(2)  (b) T (a)
(3)  (a) 3 (d)

(4)  (d) 3 (c)

Options:

61547548201, 1
615475482302, 2
61547548203 =
1547545204, 4

Question Number : 101 Question Id : 61547512389 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(d)  sfogdTeRE

fatetaa 8 9 98 fae T

(1)  (a) 3 (c)
(2)  (b) T (a)
(3)  (a) 3 (d)

(4)  (d) 3 (c)

Options:

61547548201, 1
615475482302, 2
61547548203 =
1547545204, 4

Question Number : 102 Question Id : 61547512390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(b) ZH®
(c) T2

. =~ iy A -
[=AEd H § 98l [dhed AT :

(1) (b) 3T (c)
(2)  (a) 3 (b)
(3)  (a) M (d)

(4)  (a) I (¢

Options:

61547548305, 1
61547548206, 2
61547548207, 5
61547548208, 4

Question Number : 102 Question Id : 61547512390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(b) ZH®
(c) T2

. =~ iy A -
[=AEd H § 98l [dhed AT :

(1) (b) 3T (c)
(2)  (a) 3 (b)
(3)  (a) M (d)

(4)  (a) I (¢

Options:

61547548305, 1
61547548206, 2
61547548207, 5
61547548208, 4

Question Number : 103 Question Id : 61547512391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=%
"
"

TTATTHR. SITH & TFE &
(a)
(b)

(c)

O O O

(d)

{"* [

M § | T8 [aed gHT

(1)  (a) 3T (b)
(2)  (b) 3 (c)
(3)  (c) 3 (d)

(4)  (a) 3 (c)

Options:

61547548209, 1
1547548210 2
61547548211,
61547548212 4

Question Number : 103 Question Id : 61547512391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=%
"
"

TTATTHR. SITH & TFE &
(a)
(b)

(c)

O O O

(d)

{"* [

M § | T8 [aed gHT

(1)  (a) 3T (b)
(2)  (b) 3 (c)
(3)  (c) 3 (d)

(4)  (a) 3 (c)

Options:

61547548209, 1
1547548210 2
61547548211,
61547548212 4

Question Number : 104 Question Id : 61547512392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



o |TE1 Fd THE T o FIHF o G&T 999 T Hi5d 8 ¢

(a) TS =it TTEer

(b)  HTHEISS agHa

(c) =1 ferot

(d) HTETETE Ay

5o T 4o R o

Neegd ¥ 9 98 96T gHT

(1)  (a) 3 (d)
(2)  (a) 3 (b)
(3)  (b) 3 (¢)

(4) (o) (d)

Options:

61547548213, 1
61547548214, 2
61547548215 =
615475458316 4

Question Number : 104 Question 1d : 61547512392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o |TE1 Fd THE T o FIHF o G&T 999 T Hi5d 8 ¢

(a) TS =it TTEer

(b)  HTHEISS agHa

(c) =1 ferot

(d) HTETETE Ay

5o T 4o R o

Neegd ¥ 9 98 96T gHT

(1)  (a) 3 (d)
(2)  (a) 3 (b)
(3)  (b) 3 (¢)

(4) (o) (d)

Options:

61547548213, 1
61547548214, 2
61547548215 =
615475458316 4

Question Number : 105 Question 1d : 61547512393 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A ol Tohd hETHEl | 23 REEdat o TS o Wi 3R gl e arefl TeHiTdes TareteEl o e
e 27

(a) REmEd =1 gam

(b) T WHTE

(c) A o Tgeer

(d) =g WIS HES

Tr=fafaa 5 & =8 fawes gHT

(1) (a) 3 (d)
2 (b) 3 ()
(3)  (a) M (¢

(4)  (b) 3T (d)

Options:
615475455171

E1547548218. 2
51547548215, 3
61547548220, 4

Question Number : 105 Question 1d : 61547512393 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A ol Tohd hETHEl | 23 REEdat o TS o Wi 3R gl e arefl TeHiTdes TareteEl o e
e 27

(a) REmEd =1 gam

(b) T WHTE

(c) A o Tgeer

(d) =g WIS HES

Tr=fafaa 5 & =8 fawes gHT

(1) (a) 3 (d)
2 (b) 3 ()
(3)  (a) M (¢

(4)  (b) 3T (d)

Options:
615475455171

E1547548218. 2
51547548215, 3
61547548220, 4

Question Number : 106 Question 1d : 61547512394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HeeEd § | T4l % 3 gara @

(a) q73 ‘E?T fF = ﬁlﬁ?ﬁ
(b) 3 IEE @ I8

(c) TG =I5 9%

-

(d) S<ht =Te gHom B

fF=afefeaa ® 9 98 fawes THu

(1)  (b) 3 (d)
(2)  (a) 3 (b)
(3)  (a) AT ()

(4)  (b) 3 (c)

Options:

£1547548321. 1
61547548222, 2
61547548322, 5
61547548324 4

Question Number : 106 Question Id : 61547512394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HeeEd § | T4l % 3 gara @

(a) q73 ‘E?T fF = ﬁlﬁ?ﬁ
(b) 3 IEE @ I8

(c) TG =I5 9%

-

(d) S<ht =Te gHom B

fF=afefeaa ® 9 98 fawes THu

(1)  (b) 3 (d)
(2)  (a) 3 (b)
(3)  (a) AT ()

(4)  (b) 3 (c)

Options:

£1547548321. 1
61547548222, 2
61547548322, 5
61547548324 4

Question Number : 107 Question Id : 61547512395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a)  OTET 99 T SO0

(b)y B it T
(c) FSTATS
(d)  FYT-TEATEA

eterEd 9 o T8 faehed T

(1) (a) 3T (b)
(2)  (a) I (d)
(3)  (c) 3 (d)

(4)  (b) FW (d)

Options:

61547548225, 1
61547548326 2
61547548327, 2
61547548328 4

Question Number : 107 Question Id : 61547512395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a)  OTET 99 T SO0

(b)y B it T
(c) FSTATS
(d)  FYT-TEATEA

eterEd 9 o T8 faehed T

(1) (a) 3T (b)
(2)  (a) I (d)
(3)  (c) 3 (d)

(4)  (b) FW (d)

Options:

61547548225, 1
61547548326 2
61547548327, 2
61547548328 4

Question Number : 108 Question Id : 61547512396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



efefag 5 9 =g =91 Fa-T1 2 7

(a) 9o = fowg

(b) ST T HAR 3

(c) STTAT ST SR

(d) urg ﬂigﬂ

f=fefea ® 5 98 fawen gHu

(1)  (a) 3 (b)
(2)  (b) 3 (d)
(3)  (a) #W (c)

(4)  (b) 3 (c)

Options:

61547548229, 1
61547548220 2
61547548331 2
61547548332 4

Question Number : 108 Question 1d : 61547512396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



efefag 5 9 =g =91 Fa-T1 2 7

(a) 9o = fowg

(b) ST T HAR 3

(c) STTAT ST SR

(d) urg ﬂigﬂ

f=fefea ® 5 98 fawen gHu

(1)  (a) 3 (b)
(2)  (b) 3 (d)
(3)  (a) #W (c)

(4)  (b) 3 (c)

Options:

61547548229, 1
61547548220 2
61547548331 2
61547548332 4

Question Number : 109 Question 1d : 61547512397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFr=fefEa 8 5 SEees TETE TR S e B

(a) Tareet
(b)  FEE =Y

[

()  =adl

Hegd § ° HE fashed IHT

(3)  (c) 3 (d)

(4  (b) F (c)

Options:

61547548233, 1
61547545334 2
615475458335 2
615475453236 4

Question Number : 109 Question Id : 61547512397 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFr=fefEa 8 5 SEees TETE TR S e B

(a) Tareet
(b)  FEE =Y

[

()  =adl

Hegd § ° HE fashed IHT

(3)  (c) 3 (d)

(4  (b) F (c)

Options:

61547548233, 1
61547545334 2
615475458335 2
615475453236 4

Question Number : 110 Question Id : 61547512398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aa 7 | SRl J1Ee B

(a) TIE H TEA

(b) U HIgfcad 1 S
(c) Tt 70 T
(d) TS ST

Freferfiam & & W fare =T -

(1)  (a) 3R (d)
(2)  (b) 3 (c)
(3)  (a) 3 (b)

(4) (a) 3T (c)

Options:

£1547548337. 1
61547548228, 2
61547548229, 5
615475452340 4

Question Number : 110 Question Id : 61547512398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



aa 7 | SRl J1Ee B

(a) TIE H TEA

(b) U HIgfcad 1 S
(c) Tt 70 T
(d) TS ST

Freferfiam & & W fare =T -

(1)  (a) 3R (d)
(2)  (b) 3 (c)
(3)  (a) 3 (b)

(4) (a) 3T (c)

Options:

£1547548337. 1
61547548228, 2
61547548229, 5
615475452340 4

Question Number : 111 Question Id : 61547512399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fafes 5 5 fesft gfee w smnfa F9-9 3o =8 27

(b) =T
© dfHA

(d) IR F HIed

- s 3

THAgd § § TE faehed T

(1)  (a) 3 (o)
(2)  (a) 3 (b)
(3)  (b) 3 ()
4)  (a)3m (@)

Options:

61547548241, 1
615475482342 2
61547543343 2
61547545344 4

Question Number : 111 Question Id : 61547512399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fafes 5 5 fesft gfee w smnfa F9-9 3o =8 27

(b) =T
© dfHA

(d) IR F HIed

- s 3

THAgd § § TE faehed T

(1)  (a) 3 (o)
(2)  (a) 3 (b)
(3)  (b) 3 ()
4)  (a)3m (@)

Options:

61547548241, 1
615475482342 2
61547543343 2
61547545344 4

Question Number : 112 Question Id : 61547512400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3T o ToR= Ug hi =aTe o 3 foh 3791 § i 27
(a)  IHTE

(b)  TEHITATE

(c) FATTE

(d) HATF

- i,

FefeiEd 9 & J81 faehed T

(1) (a) 3 (c)
(2)  (b) 3 (o)
(3) (o) &M ()
4)  (a) 3 (d)

Options:

61547548345 1
615475453246 2
E1547548247. 2
61547548248, 4

Question Number : 112 Question Id : 61547512400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3T o ToR= Ug hi =aTe o 3 foh 3791 § i 27
(a)  IHTE

(b)  TEHITATE

(c) FATTE

(d) HATF

- i,

FefeiEd 9 & J81 faehed T

(1) (a) 3 (c)
(2)  (b) 3 (o)
(3) (o) &M ()
4)  (a) 3 (d)

Options:

61547548345 1
615475453246 2
E1547548247. 2
61547548248, 4

Question Number : 113 Question Id : 61547512401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



foara & s1tad 79 2 -

(a) EEIRIIIZ= 2
(b) EaaCll

(c) TSI

et § § T8 fased T

(1)  (b) & (d)
(2)  (b) 3W (a)
(3)  (d) F (¢)

(4)  (a) 3 (d)

Options:

61547548249, 1
61547548350 2
1547545351 =2
E15475453252 4

Question Number : 113 Question Id : 61547512401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



foara & s1tad 79 2 -

(a) EEIRIIIZ= 2
(b) EaaCll

(c) TSI

et § § T8 fased T

(1)  (b) & (d)
(2)  (b) 3W (a)
(3)  (d) F (¢)

(4)  (a) 3 (d)

Options:

61547548249, 1
61547548350 2
1547545351 =2
E15475453252 4

Question Number : 114 Question Id : 61547512402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) FoTqT 2= Hd9 =1 Tens T8 2l

(b)  HeUAT FIT UTAHT B, TE F1A Hl FSACHFT ¢ |

(¢) FTT F qe ungﬂ-l Fae 34 *;i::-i T 2

(d)  FoE1 H A[AHF GG T8 B

- S

MHeEd § J g foehed T

(1)  (a) 3 (b)
2)  (b) 3 W (d)
(3)  (b) 3 (c)

(4)  (c) F (d)

Options:

61547548253, 1
615475482354, 2
61547548355 2
615475458356 4

Question Number : 114 Question 1d : 61547512402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) FoTqT 2= Hd9 =1 Tens T8 2l

(b)  HeUAT FIT UTAHT B, TE F1A Hl FSACHFT ¢ |

(¢) FTT F qe ungﬂ-l Fae 34 *;i::-i T 2

(d)  FoE1 H A[AHF GG T8 B

- S

MHeEd § J g foehed T

(1)  (a) 3 (b)
2)  (b) 3 W (d)
(3)  (b) 3 (c)

(4)  (c) F (d)

Options:

61547548253, 1
615475482354, 2
61547548355 2
615475458356 4

Question Number : 115 Question 1d : 61547512403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TH | BH-H IARR AGTIHAF 3 ¢

(a) IEEIEL
(b)  =f®
(c) Jcaam

(d)  7ETd

eetEa 9 o 98 faweq gHT
(1)  (a) 3 (d)

(2)  (b) 3T (d)

(3)  (b) 3 (c)

(4)  (a) 3 (c)

Options:

61547543357,
£1547543358.
61547543259,
61547548260,

o LIPS

Question Number : 115 Question Id : 61547512403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TH | BH-H IARR AGTIHAF 3 ¢

(a) IEEIEL
(b)  =f®
(c) Jcaam

(d)  7ETd

eetEa 9 o 98 faweq gHT
(1)  (a) 3 (d)

(2)  (b) 3T (d)

(3)  (b) 3 (c)

(4)  (a) 3 (c)

Options:

61547543357,
£1547543358.
61547543259,
61547548260,

o LIPS

Question Number : 116 Question Id : 61547512404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A Terad =g ral 1 39 TOMTHRT & =Y GHTCTd i

Tt - I Tt - 1
(FrafE=T) (T
(a) USH TS T THIE| TEE Ig F9d I AE || (i)  FUE
(b) TWE T\ & FH W N AE & U fEn (i) =T
(c) ¥ FHSA g T TFaet Fegrs o= || (iii) ST
(d) AT ST U DT SADT Y T (iv) foamfa
(v) 5
frfafea & o =8 oo 9T

(1) (a)-(11), (b)-(111), (¢)-Av), (d)-(v)
(2) (a)-(1), (b)-(11), (c)-(v), (d)-(111)
(3) (a)-(111). (b)-(1), (¢)-(v). (d)-(i1)
(4) (a)-(1), (b)-(v). (c)-(111), (d)-(iv)

Options:

1547548361, 1
61547548262, 2
61547548262 o
61547548364, 4

Question Number : 116 Question Id : 61547512404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A Terad =g ral 1 39 TOMTHRT & =Y GHTCTd i

Tt - I Tt - 1
(FrafE=T) (T
(a) USH TS T THIE| TEE Ig F9d I AE || (i)  FUE
(b) TWE T\ & FH W N AE & U fEn (i) =T
(c) ¥ FHSA g T TFaet Fegrs o= || (iii) ST
(d) AT ST U DT SADT Y T (iv) foamfa
(v) 5
frfafea & o =8 oo 9T

(1) (a)-(11), (b)-(111), (¢)-Av), (d)-(v)
(2) (a)-(1), (b)-(11), (c)-(v), (d)-(111)
(3) (a)-(111). (b)-(1), (¢)-(v). (d)-(i1)
(4) (a)-(1), (b)-(v). (c)-(111), (d)-(iv)

Options:

1547548361, 1
61547548262, 2
61547548262 o
61547548364, 4

Question Number : 117 Question Id : 61547512405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



afertEa wifaenl Faaretl #1396 TR & J1Y GHOd I
el - 1 Tt - 11

(SRferhrit ot (TR

(a) o F F A FHA () T B

(b)  FET I FITepen (ii) HATEAETS TAaa
(c) @ (ili) SF TEE

(d) TefzgmemH (iv) STeTEw Al e

(V) HEGIHHR =EE

=fefaa 7 @ =8 foeT 9w

(1) (a)-(1), (b)-(11), (¢)-(11), (d)-(1v)
(2) (a)-(iv), (b)-(iii), (c)-(i), (d)-(1)
(3) (@)-(v), (b)-(11), (¢)-(1v), (d)-(111)
(4) (a)-(111), (b)-(1v), (c)-(v), (d)-(11)

Options:

£15475483265. 1
61547548266, 2
615475482367, o
61547548368, 4

Question Number : 117 Question Id : 61547512405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



afertEa wifaenl Faaretl #1396 TR & J1Y GHOd I
el - 1 Tt - 11

(SRferhrit ot (TR

(a) o F F A FHA () T B

(b)  FET I FITepen (ii) HATEAETS TAaa
(c) @ (ili) SF TEE

(d) TefzgmemH (iv) STeTEw Al e

(V) HEGIHHR =EE

=fefaa 7 @ =8 foeT 9w

(1) (a)-(1), (b)-(11), (¢)-(11), (d)-(1v)
(2) (a)-(iv), (b)-(iii), (c)-(i), (d)-(1)
(3) (@)-(v), (b)-(11), (¢)-(1v), (d)-(111)
(4) (a)-(111), (b)-(1v), (c)-(v), (d)-(11)

Options:

£15475483265. 1
61547548266, 2
615475482367, o
61547548368, 4

Question Number : 118 Question Id : 61547512406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T - 1 gt - 11

(freshtar =femmd) (=)

(a) TECEZTIT )  FEAE

(b) SEETA (i) eHER 9t

(c) ARl (iii) =1 HEdr

(d) =3 FiTE Ta (iv) Hfgeforer T

(v) g Imi

foerfertan & & =@ fwe 9RT

(1) (a)-), (b)-(1v), (c)-(1), (d)-(111)
(2) (a)-(1), (b)-(1), (¢)-(111), (d)-(V)
(3) (a)-(v), (b)-(v), (c)-(11), (d)-(1)
(4) (a)-(1v), (b)-(11), (¢)-(v), (d)-(11)

Options:

61547548269, 1
61547548370 2
61547548371, 2
61547548372 4

Question Number : 118 Question 1d : 61547512406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T - 1 gt - 11

(freshtar =femmd) (=)

(a) TECEZTIT )  FEAE

(b) SEETA (i) eHER 9t

(c) ARl (iii) =1 HEdr

(d) =3 FiTE Ta (iv) Hfgeforer T

(v) g Imi

foerfertan & & =@ fwe 9RT

(1) (a)-), (b)-(1v), (c)-(1), (d)-(111)
(2) (a)-(1), (b)-(1), (¢)-(111), (d)-(V)
(3) (a)-(v), (b)-(v), (c)-(11), (d)-(1)
(4) (a)-(1v), (b)-(11), (¢)-(v), (d)-(11)

Options:

61547548269, 1
61547548370 2
61547548371, 2
61547548372 4

Question Number : 119 Question 1d : 61547512407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



~ e = gVl —

TrEd AT Eal o1 34 TAHTRRT o =19 Ao hirg
T - 1 met - 11
(Fro=fee ) (T )
(a) B U g8 i o A9 el T el (1) 3

—

(b) TeEEl et § wefren # T oW # =ieA 2 (D) UgHTR

e 2 fere 6 5re B
(c) Tom ToTd &0 = WA & oF Sg INe B (i) St
9F F 7 gTE|
(d) A9 399 FT=9 B, HEI AL S| (iv) TETT |8
3749 =T 19 T, Sl wed Ao |
(v) figrmE
fretafEa 8 5 =8 fasey gHu
(1) (a)-(), (b)-(id), (c)-(iii), (d)-({1v)
(2) (a)-(1v), (b)-(11), (c)-(111), (d)-(2)
(3) (@)-(v), (b)-(), (¢)-(1v), (d)-(111)
(4) (a)-(ii), (b)-(iv). (c)-(1), (d)-(v)

Options:

£1547548373. 1
61547548274, 2
61547548275 5
61547548376, 4

Question Number : 119 Question Id : 61547512407 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



~ e = gVl —

TrEd AT Eal o1 34 TAHTRRT o =19 Ao hirg
T - 1 met - 11
(Fro=fee ) (T )
(a) B U g8 i o A9 el T el (1) 3

—

(b) TeEEl et § wefren # T oW # =ieA 2 (D) UgHTR

e 2 fere 6 5re B
(c) Tom ToTd &0 = WA & oF Sg INe B (i) St
9F F 7 gTE|
(d) A9 399 FT=9 B, HEI AL S| (iv) TETT |8
3749 =T 19 T, Sl wed Ao |
(v) figrmE
fretafEa 8 5 =8 fasey gHu
(1) (a)-(), (b)-(id), (c)-(iii), (d)-({1v)
(2) (a)-(1v), (b)-(11), (c)-(111), (d)-(2)
(3) (@)-(v), (b)-(), (¢)-(1v), (d)-(111)
(4) (a)-(ii), (b)-(iv). (c)-(1), (d)-(v)

Options:

£1547548373. 1
61547548274, 2
61547548275 5
61547548376, 4

Question Number : 120 Question Id : 61547512408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T - 1 == - 11
(a) @9 9 ToTu E @ A (1) FEI=E
g 2 379 3 fou wAmy
(b) 3 38 WIS I H Hg g i) ITH
32 off |l srfvaEar giae Fi
(c) AT WROTId & /T STt ed & (i) gy

U e Hed 1 B/ YT FATeT Fil
(d) T F TEEr AT/ R e w1 (iv) STTIegTH
(v) T

frfoaa ® 5 =8t fawes v

(1) (a)-(111), (b)-(v), (¢)-(1), (d)-(11)
(2) (a)-(11), (b)-(111), (¢)-(v), (d)-(1)
(3) (a)-(v), (b)-(1), (¢)-(11), (d)-(111)
(4) (a)-(1), (b)-(11), (¢)-(111), (d)-(1v)

Options:

61547548377, 1

61547548378 2

61547548379, 3
E1547548380. 4

Question Number : 120 Question Id : 61547512408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T - 1 == - 11
(a) @9 9 ToTu E @ A (1) FEI=E
g 2 379 3 fou wAmy
(b) 3 38 WIS I H Hg g i) ITH
32 off |l srfvaEar giae Fi
(c) AT WROTId & /T STt ed & (i) gy

U e Hed 1 B/ YT FATeT Fil
(d) T F TEEr AT/ R e w1 (iv) STTIegTH
(v) T

frfoaa ® 5 =8t fawes v

(1) (a)-(111), (b)-(v), (¢)-(1), (d)-(11)
(2) (a)-(11), (b)-(111), (¢)-(v), (d)-(1)
(3) (a)-(v), (b)-(1), (¢)-(11), (d)-(111)
(4) (a)-(1), (b)-(11), (¢)-(111), (d)-(1v)

Options:

61547548377, 1

61547548378 2

61547548379, 3
E1547548380. 4

Question Number : 121 Question Id : 61547512409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[ i i i

TG SURETET B SAE Halg Ul WY gHITd il

=

Tt - 1 e - 11
(a) @9 (1) HF I
(b)  TFTETET (i) e
(c) TETa (i) f=r2
(d) FET-T= (iv) Y
(v) @
freferfaa & & =&t fosen =T

(1) (a)-(1v), (b)-(11), (c)-(1), (d)-(111)
(2) (a)-(1), (b)-(11), (c)-(111), (d)-(v)

(3) (a)-(111), (b)-(v), (e)-(1), (d)-(v)
(4) (a)-(11), (b)-(111), (¢)-(1v), (d)-(V)

Options:

61547548281, 1
615475482382, 2
61547548383 o
615475452354, 4

Question Number : 121 Question 1d : 61547512409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[ i i i

TG SURETET B SAE Halg Ul WY gHITd il

=

Tt - 1 e - 11
(a) @9 (1) HF I
(b)  TFTETET (i) e
(c) TETa (i) f=r2
(d) FET-T= (iv) Y
(v) @
freferfaa & & =&t fosen =T

(1) (a)-(1v), (b)-(11), (c)-(1), (d)-(111)
(2) (a)-(1), (b)-(11), (c)-(111), (d)-(v)

(3) (a)-(111), (b)-(v), (e)-(1), (d)-(v)
(4) (a)-(11), (b)-(111), (¢)-(1v), (d)-(V)

Options:

61547548281, 1
615475482382, 2
61547548383 o
615475452354, 4

Question Number : 122 Question 1d : 61547512410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt - 1 Tt - 10

(2) TEH ()  HEfen
(b) TS I TG T (i) T aeERE
(c) Torrat 18 (i) Foom SR
(d) = (iv) TG A

(v)  THOTRT T
frerfefam & & =6 fae ghm

(1) (a)-(1), (b)-(i1), (c)-(iii), (d)-(iv)
(2) (a)-(1), (b)-(11), (c)-(1v), (d)-(V)
(3) (a)-(v), (b)-(1v), (¢)-(1), (d)-(11)
(4) (a)-(111), (b)-(11), (¢)-(v), (d)-(1)

Options:

61547548385, 1

61547548386 2

61547548387, 3
E1547548388. 4

Question Number : 122 Question Id : 61547512410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt - 1 Tt - 10

(2) TEH ()  HEfen
(b) TS I TG T (i) T aeERE
(c) Torrat 18 (i) Foom SR
(d) = (iv) TG A

(v)  THOTRT T
frerfefam & & =6 fae ghm

(1) (a)-(1), (b)-(i1), (c)-(iii), (d)-(iv)
(2) (a)-(1), (b)-(11), (c)-(1v), (d)-(V)
(3) (a)-(v), (b)-(1v), (¢)-(1), (d)-(11)
(4) (a)-(111), (b)-(11), (¢)-(v), (d)-(1)

Options:

61547548385, 1

61547548386 2

61547548387, 3
E1547548388. 4

Question Number : 123 Question Id : 61547512411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr=fefas se=mT-udt =1 37 TEF F WY gHie FIT

= - 1 Tt - 10

(a) HETEHT: TH TR (i) R e
(b) ST HIEATHR (i) HfwaT
(c) sfae™ 3T A== (iii) Afeeg 34
(d) TR SR IR (iv) TrEgmEE =Em
(v) TS M
frerffa & & 78 feT R -

(1) (a)-(11), (b)-(111), (c)-(1), (d)-(V)
(2) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
(3) (a)-(1), (b)-(av), (c)-(v), (d)-()
(4) (a)-(1v), (b)-(1), (¢)-(11), (d)-(1i1)

Options:

61547548389, 1
615475483390 2
61547545291, 2
61547545292, 4

Question Number : 123 Question Id : 61547512411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr=fefas se=mT-udt =1 37 TEF F WY gHie FIT

= - 1 Tt - 10

(a) HETEHT: TH TR (i) R e
(b) ST HIEATHR (i) HfwaT
(c) sfae™ 3T A== (iii) Afeeg 34
(d) TR SR IR (iv) TrEgmEE =Em
(v) TS M
frerffa & & 78 feT R -

(1) (a)-(11), (b)-(111), (c)-(1), (d)-(V)
(2) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
(3) (a)-(1), (b)-(av), (c)-(v), (d)-()
(4) (a)-(1v), (b)-(1), (¢)-(11), (d)-(1i1)

Options:

61547548389, 1
615475483390 2
61547545291, 2
61547545292, 4

Question Number : 124 Question Id : 61547512412 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[

ATl S ffeifEa TYTETeT S Urqugehl o gHfe I

T - T - 11
(a) TEER ¥ FEETCHS a9 fEon st A g wte i g w2, () T g
HIRONRToT o G 3THGHT 1 &1 STdl &, SEfeC 98 areaT =l HemeE
FToh ITT HTEEOHI0T T 2|

(b) FHE-TET A W F TG FAIIAT FT FENONFI HES H smen wy (1)
HTGHT T HTTRURIT HIFAT FATISE 6 A% SHE 2

(c) TFEET I Tg T AN W@ F TR Tgl ARV g f (i) STEweR TEE
Tfeet it TE 2| TE TR ST wioua a1 Fom T8 2

(d) & THECHIE AL W AT 2 a9 39 WG I WS whk | &ff '@ (iv) T
Eikil %I 39 AY F T FHAT %f, TS T1: WAk T T _E_»_'T|
HITeRTo 1 T8 A9 7|

(v) TEEE
e G B e =
(1) (a)-(11), (b)-(v), (e)-(1), (d)-(11)
(2) (a)-(11), (b)-(1), (c)- (n) (d)-(111)
(3) (@)-(1), (b)-(11), (¢)-(v), (d)-(111)
(4) (a)-1v), (b)-(1i1). (c)- 11), (d)-(1)

Options:

615475482393, 1
15475453294 2
E1547545295 =2
61547548296, 4

Question Number : 124 Question Id : 61547512412 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[

ATl S ffeifEa TYTETeT S Urqugehl o gHfe I

T - T - 11
(a) TEER ¥ FEETCHS a9 fEon st A g wte i g w2, () T g
HIRONRToT o G 3THGHT 1 &1 STdl &, SEfeC 98 areaT =l HemeE
FToh ITT HTEEOHI0T T 2|

(b) FHE-TET A W F TG FAIIAT FT FENONFI HES H smen wy (1)
HTGHT T HTTRURIT HIFAT FATISE 6 A% SHE 2

(c) TFEET I Tg T AN W@ F TR Tgl ARV g f (i) STEweR TEE
Tfeet it TE 2| TE TR ST wioua a1 Fom T8 2

(d) & THECHIE AL W AT 2 a9 39 WG I WS whk | &ff '@ (iv) T
Eikil %I 39 AY F T FHAT %f, TS T1: WAk T T _E_»_'T|
HITeRTo 1 T8 A9 7|

(v) TEEE
e G B e =
(1) (a)-(11), (b)-(v), (e)-(1), (d)-(11)
(2) (a)-(11), (b)-(1), (c)- (n) (d)-(111)
(3) (@)-(1), (b)-(11), (¢)-(v), (d)-(111)
(4) (a)-1v), (b)-(1i1). (c)- 11), (d)-(1)

Options:

615475482393, 1
15475453294 2
E1547545295 =2
61547548296, 4

Question Number : 125 Question Id : 61547512413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1{'\ [

TR RIS 1 39 Feg Shl | gHT it ;

= - 1 = - 11
(feremeema) (*7E=)
(a) wEEATE (i) R
(b) HAfeqeaar (11) e
(c) e E I el (111) T =Y
(d) I AT Gv)

(v) RS

fr=fafea 8 = =8 fare gfu

(1) (a)-(11), (b)-(1), (¢)-(v), (d)-(111)
(2) (a)-(1), (b)-(11), (¢)-(i11), (d)-(1v)
(3) (a)-(i11), (b)-(av), (0)-(1), (d)-(11)
(4) (a)-@v), (b)-(v). (c)-(111), (d)-(1)

Options:

61547548397, 1
615475483298 2
61547545299, 5
61547548400, 4

Question Number : 125 Question Id : 61547512413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

eerad foemamet #1399 Hag o@shi o Ao I :
Tt - 1 T - 11
(fermmeema) (*rE)
(a) HTFHATS (i) R
(b)  AfdeaaTs (i) T
(c) THIGveTIOTETE (iii) e ard
(d) IR SATIHER Gv) 3w
(v) HEARS
P % adt R

(1) (a)-(1), (b)-(2), (c)-v), (d)-(1)
(2) (a)-(1), (b)-(11), (c)-(111), (d)-(1v)
(3) (a)-(11), (b)-(v), (¢)-(1), (d)-(11)
(4) (a)-@v), (b)-(v). (c)-(111), (d)-(1)



Options:

61547548397, 1
15475453298 2
E1547545299 2
61547545400, 4

Question Number : 126 Question Id : 61547512414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Bis - A 0o =
AR o STFETR g Hodr 1 T8 ST9FT 7

(1) @7, qed, STGEEATY, T
(2) S, FIETT, STGEEE, TOUEd,
(3)  TUIRd, EET, TS, STGEEHTI

(4)  HEW, T[EI, TR, SAEEEHT

Options:

61547548401, 1
61547543402 2
61547545402 2
61547545404, 4

Question Number : 126 Question Id : 61547512414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) T, IoEd, STEEEAT, S5
(2) S, TG, STGEEET, TOUEd,
(3)  YoIed, TLEUT, TEUT, STGEEAT

(4)  TET, qE9T, TOIEd, STEEEET

Options:

61547548401, 1
61547543402 2
61547545402 2
E1547545404, 4

Question Number : 127 Question Id : 61547512415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

~ 2 o T ol "
TFFTHRTA o1 312 § HEAreRga Fiadt 1 Tal ST 2

(1) FIEEE, ToEHl, uuT, SEm

(2) AT, oA, e, quor
(3) YT, FIEEHE, AT, foEr
(4) F RMAGIH, ﬁ:l'l"T%! T, %ﬁﬁ

Options:

61547545405, 1
61547548406, 2
61547548407 =
61547545408, 4

Question Number : 127 Question 1d : 61547512415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[ BV £~ , S O, Y i =
=TT o1 312 § HEreRga Fiaat 1 T8 ST 2

(1) FITEEE, ToEHl, U9, SEm

(2) BT, FereEmE, T, oo
(3) Y9, FIEEE, AT, foer
(4) aﬁﬂm! ﬁq‘rq‘%! 31]}1‘3, ﬁ -. A

Options:

61547545405, 1
61547548406, 2
61547548407 =
61547545408, 4

Question Number : 128 Question 1d : 61547512416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TRIOE T4 S GIE | ETead FEadiadl 6 JE STIHN

(1) =, |ehd, 9549, 319
™ e

(2) Hqehd, ¥OH, 9gd, AW
(3) A, Tgd, T, JHhd
(4) Tgd, T, I, Hhd

Options:

1547545409 1

1547545410, 2

E1547545411. 2

1547545412 4

Question Number : 128 Question Id : 61547512416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TR T4 1 312 H HEREa FEaEaal B TE STET 2

(1) =, |, Tgd, 319

(2) qTehd, T, T2d, 317{1\

(3) A\, Tgd, T, ATk

(4) TEd, T, 3T, TR
Options:

E154754840%9. 1
615475458410, 2
615475458411, =
61547545841%. 4

Question Number : 129 Question Id : 61547512417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- it -~

TR T4 i ZT8 W HERgd Feadaal F HE SAET B

(1) eI, g, g F1 HE <6l 8, ATH % IR R

(3) I % TR FR, =g T Hg G 2, i, F

(4) =g 1 g a1 2, faooitan, FFen, A= % 98GR

Options:

61547548413, 1
61547545414 2
61547545415 =
1547545416 4

Question Number : 129 Question Id : 61547512417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- o i -

THEH 9 H GE H FEfAREd FEFEaEl F T8 STIH B

(1) ool S, =t %1 48 36 ®, I F IR IR
(2)  FHHO, TAWET, SE % IR R, TG 8 36T 8

(3)  HATH % UN G, Wi 1 g T 7, TowIiET, HpTgmT

Tt ot

(4) =g =1 5% 251 2, Towiften, S, A E % IR ER

Options:

61547548413, 1
61547545414 2
61547545415 =2
1547545416 4

Question Number : 130 Question Id : 61547512418 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

RIS A hi GT8 H WIS HTEHT o AT F HE TR ©

-

(1) T, |I9Et, T 3 S5l =90, A
(2) T, T, T 5 FEAT T, AT
(3) T % SEAT =, AT, T, ATt
(4) ST, T SS9 =T, e, g

Options:

61547548417, 1
£1547548418. 2
61547545419, 5
61547548420 4

Question Number : 130 Question Id : 61547512418 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



RIS A R 38 | WIS HTEHT o AT F TE ST ©

(1) T, ATEET, T 5 a9l A, SATTEIN
(2)  =IYE, T, T 3 SEAT T, AT
(3) T % FEAT =, ST, T, AT
(4) ST, T g SE@d =e, e, g

Options:

£1547548417. 1
E1547545418. 2
61547545419, 5
61547545420 4

Question Number : 131 Question Id : 61547512419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- S o

RIS S F STIAR R STTEl F HE STEE B

[

(1) TETE, TEH, TE: TF Sia-l, a6

(2) Mg, Y@L TF SeHl, RIGNE, 769

(3) THENTE, 999, TMEH, @ U SieH]

-

(4) IR UF Sla-l, d99, TEH, TSR

Options:

61547548421, 1
61547548422 2
£1547545422 =2
E1547545424 4

Question Number : 131 Question Id : 61547512419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o o

RIS S F STTHR AR STTE] F HE STTFA B

[

(1) &, MEH, IE: TF o, 799

=, ™ ™ [
(2) Tﬁm , G Th HAEAT, IENE, THH

(3) AT, THE, TEF, I U S

(4) TR TF o, 97, TEH, TEmE

Options:

61547548421, 1
61547548422 2
61547548423 =
61547545424 4

Question Number : 132 Question 1d : 61547512420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=
"
.

TR TS o STAT oIRad FHal-al &l 98 ST 8

(1) uie, SETE, STHEEM, 35 FET 91
(3) ARG, TfG, IHY FE o1, $EE

(4)  IqE, SATREEIY, TG, SHEY e o1

Options:

61547545425 1
61547548426, 2
61547548427, o
61547545425, 4

Question Number : 132 Question Id : 61547512420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TRTZH T o SIER A rE@d FE=al o 8 HAHH 5

e

(1) aie, $EE, STHEEM, 35 FE 91
(3)  STRmIEM, UG, A FE o, TEE
(4)  IEE, STREIET, TG, IHT HE o1

Options:

51547548425, 1
61547548426, 2
61547545427 2
61547545428 4

Question Number : 133 Question Id : 61547512421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

' I oo B

TRIRH A F ITAR ARG IECLR-prea el FFH ?

(1) T it a8 3TE, STGARIvAR, STU % B, 2J@er i Hedl
(2)  Torfiw <t amg omE, STNE * BT, 2@ Fi weAl, FTEARITE
(3)  >Jmem it HieAl, SAF & e, AGARTA, TR F a5 18

(4) AGARITER, T it 718 1%, 5"-i{3ic*1l FI Fel, TF F T

Options:

51547548429,
61547548430,
61547545431,
61547543432,

[ N N

Question Number : 133 Question Id : 61547512421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



' I oo B

TR I F FJAR HHARET e el 1 HE HATFA 2

(1) T 1 915 TS, STHARINER, ST9F & B, »[Ger il Heal
(2) o 1 915 TS, STOF F FA, MG H FHredl, AGIRRHR
(3)  >Jmem it HieAl, SAF & e, AGARTA, TR F a5 18

T

[, 3T2MF & B

(4)  FAGARRER, REW & 915 A&, 2[@en & Hed

Options:

61547548429, 1
61547545430 2
£1547548421. =2
61547545422, 4

Question Number : 134 Question Id : 61547512422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

™ ™

efafEd ==t 1 981 FeTshE T

(1) wHF, Fak, AFGTST, T3

(2)  Fa%k, AHFGIGH, TAF, T3

(3)  SAMGAGH, T8I, ¥IF, FaF

(4) é@ﬁ, a'“riqqﬁcri:r! i‘é“ﬂ"’f’*, L{oh

Options:

61547548433, 1
61547545434 2
61547545435 =2
E1547545436 4

Question Number : 134 Question Id : 61547512422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



™ ™

= = a [
METAIEd ATHATET bl Hal hiclfshH HU

(1) &%, Fak, AFCIGT, 5o

(2)  Fa%k, AHFGIGH, TAF, T3

(3)  AMEISA, TS, TAF, Fdh

(4) é@ﬁ, a'“riqqﬁcri:[! ‘:é"'ﬂ"h, L{oh

Options:

61547548433, 1
61547545434 2
61547545435 =2
E1547545436 4

Question Number : 135 Question Id : 61547512423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I e 5

He=TroATEd 9T T Hal Flelshd ¢

(1)  wEgieer, foretfen amafean, g 3%E 93, TaeTs

(2) grafeas, foretfan smanfear, s, 5§ 9%s 93
(3) [T TR, TR, 3 Hhe g, Traread

(4) 7T TRE TS, TETCHE, ToretiEn e, wEdieE

Options:

51547548437, 1
61547548438, 2
61547545439 =2
61547545440 4

Question Number : 135 Question Id : 61547512423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



OO =

HHETAEd TdT 1 Jel FTAFH &

(1)  wEgfes, foretfen amanfea, g 3%E 93, Taess

S

(2) T, Tt arEmiEaT, TEAF, 5 9%s I35

(3)  Toreiftan srmnfean,wedfes, g 9%s g3, TEeH

S o

(4) 7 TS TS, TEiead, ToraieE s, et

Options:

61547548437, 1
61547548438, 2
£1547545429 =2
E1547545440 4

Question Number : 136 Question Id : 61547512424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5o =9 w9 ¥ 2 FuA 2 U 2 | T9H § U ST (Assertion) (A) B 3R = % (Reason) (R)| fzu

oA ~ o
U ot | & T8 fasen =1 ==m Fifsm|

T (Assertion) (A) : 59 fova 7 favarar &t sty gt 8, 99 & s 8 @ S|

% (Reason) (R) : F=ifh Ted f1 Areafeytaar § & wHwares 61 Uiwan fawtEd gt =t 2|

() (A)=& R) =&
(2) (A) Tea (R) |&1
(3) (A) 7Te1d (R) T
(4 (A= (R) T

Options:
615475458441, 1



E154754844%2 2
615475458443, 3
61547545444, 4

Question Number : 136 Question 1d : 61547512424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

f7awr: 39 79 # 3 F99 TGU M0 2 | 39 | U T4 (Assertion) (A) ® 3R g0 7% (Reason) (R)| ¥

e A, [ fala
U oot °§ 9 =8 fasen &1 === Fifsm)

. g

T (Assertion) (A) : 59 foza 7 fagarar it sAfa=afe gt 2, 99 & s § @ |

gl G AW

% (Reason) (R) : #=ifeh #erd Y Areafeytaat 3 & wwares 61 ihan fowfEa gt =t 2|

EETE

(1) (A R) =&
(2) (A) Tera (R) =&
(3) (A) 7o a (R) Tod

(4) (A) =€t (R) Terd

Options:

61547548441, 1
61547545442 2
61547545443 =2
E1547545444 4

Question Number : 137 Question Id : 61547512425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Teor: =9 woa 4 o %99 °U U 2 | THH § UF T (Assertion) (A) B K 7 % (Reason) (R)| Tz

: s o A~
T faereT | | =8 oo =1 ==m Firfs|

TYTTAT (Assertion) (A) : SMYFEFHT TF AT AT ATER UBHAT 2|

% (Reason) (R) : #F41h Ted= TiEa 90 |9, THgTal 378 G917 6l S99 24T 2|
MY L

(1) (A) o9 (R) o1
2) (A =S R) T
(3) (A 7=a (R) =&t

(4) (A) =71 (R) Toa

Options:

£1547548445. 1
E1547548446 2
61547548447, o
61547545445, 4

Question Number : 137 Question Id : 61547512425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

75w 39 W § 7 F9F U 70 8 | 3H | UF T (Assertion) (A) ® 3R 580 @& (Reason) (R)| iU

s fa e
MU foFedt § | HE foHeT w1 99e Fi|

TYTTAT (Assertion) (A) : ST TF AT AT FATER UGFAT 2|

% (Reason) (R) : 74T Tedsh Tiaad A0 &2/, Hgral ST G9e=isti o 5= 3T 8l
I

(1) (A) Medd (R) Medd
2) (A= R) =&
(3)  (A) Ted (R) =&

(4) (A) == (R) Tora



Options:

515475458445 1
61547545446 2
E1547545447 =2
61547545445, 4

Question Number : 138 Question Id : 61547512426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
5 38 W9 9 o FYH fGu U 2 | 39 § s T (Assertion) (A) @ 3R 3Ry % (Reason) (R)I fzu

e [:( - - ﬂ' :Er Qﬁ ‘{'aq)(,q EARFEL ‘;:11-::IQ|

T (Assertion) (A) : afora famgm o aifeea | rfisae g9 et o1 gfisH & 2

-

a# (Reason) (R) : 74T gferq HATfged | qETq: dETEEs HAATHL o HHITH, TSGR T il AT

T 2

(1) (A) T (R) TR
2) (A= R) =
(3) (A) 14 (R) To1d

(4) (A) =&t (R) Toa

Options:

61547545449, 1
61547548450 2
61547545451 =
61547545452 4

Question Number : 138 Question 1d : 61547512426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e =@ w9 9 31 799 B U 2 | 9 ¥ U T (Assertion) (A) ® 3R L3Ry % (Reason) (R)I 5@

e E - - ﬂ' :Er gﬁ. ;?:{Lh("‘l EARFEL ‘;:1{::IQ|

TITTT (Assertion) (A) : G Tawa o |TTeca | ATH=awh AL Mt 1 ghom & 2

- [

a% (Reason) (R) : 74T gferq |iged | q&Fd: SerHRes HAATHL o HHITH, TSHITqH T ol AT

T 2

1) (AT (R) 7
2 A= R) =
(3) (A) Tea (R) g
4 (A= R) TE™

Options:
61547545449 1

51547548450, 2
515475458451, 3
51547548452, 4

Question Number : 139 Question 1d : 61547512427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fogor: =0 ov9 ° g %99 fou U 8 | 99§ U U (Assertion) (A) 8 3R Ry % (Reason) (R)I fgu

U et § 1 981 faseT 1 == Fifeu|

T (Assertion) (A) : 9RG= I H AEIFCF AT SIFFHT F1 55 2|

% (Reason) (R) : 17k S8 9T T YA THTS HTHAY F 57 F TN &1 91
%:h?q :

1) (A (R) T

2 (A FE R) T

(3) (A) 774 (R) TTeTd

4) (AT (R) =R

Options:

61547545453, 1
61547548454 2
61547545455 =
61547545456, 4



Question Number : 139 Question Id : 61547512427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5 39 WA ¥ @ FYF G U B | T | UE TA (Assertion) (A) 2 3 g0 9% (Reason) (R)| 5@
U faFeT § 1 " faweT = == Fis|

T (Assertion) (A) : YRGS T 7 AEIHCHAT SR SATIHFHAT F1 55 ¢

% (Reason) (R) : F4i% 39 99 T WRAE FH HHA0T & GH & TR & 97|

() (A) =& (R) o
2) (A =E R) =&
(3)  (A)7era (R) o
4) (A e (R) @@

Options:

61547548453, 1
61547545454 2
61547545455 2
61547545456, 4

Question Number : 140 Question Id : 61547512428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e =8 WH § @ %99 U T B | TH | T FUTET (Assertion) (A) 8 3R 80 @ (Reason) (R)1 5@

U fohem # § "8 faweq =1 =9q Fifsm|

T (Assertion) (A) : F15F FT Fa50 TAFE 2

% (Reason) (R) : A% FaeT SATHI F F Fiodl FIHAT 1 AALF 1 T6 Jigd HEwar 2

(1) (A 7= (R) T&

(2) (A) =& (R) @&

(3) (A) Te1d (R) TTera

(4) (A) =&l (R) o
Options:

E1547548457. 1
E1547548458. 2



E1547548459. 3
51547548460, 4

Question Number : 140 Question Id : 61547512428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5 39 TN 7 31 FYF QU 0 7 | TH H UF T (Assertion) (A) 2 3R 0 @F (Reason) (R)| 5T

MU faedt & ° Tl fawew w1 5= Fifsu|

T (Assertion) (A) : FeT 1 FEET TS 2

% (Reason) (R) : ATk Fael STTFIT H & T FHIHAT T -aLF 3T dTel Higd Hawan 2

(1) (A) 779 (R) F&T
(2) (A) =& (R) =&
(3) (A) Ted (R) To1a
(4) (A) 7&l (R) Terd

Options:

L1E547E48457 1

L1547 E45458 2

61547548455, 3
61547545460, 4

Sub-Section Number: 2
Sub-Section 1d: 615475533
Question Shuffling Allowed : Yes

Question Id : 61547512429 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



frfefian s =28 =1 ST 98 F 358 gEi-ad WAl % I 50 7 e 8 # gy

T F O T A T AT F o He o # g e 78 w2 s i w9
T WS I AU A -ET AR G Ve AT9E Ted 7| 959 | UM 9sE = 2 (A fRei w6

wife=h SEd H FO1 AT SAMR I UF WY FAA-A1 S TEv 7 A1 2| UH sE] H1 2H Sid-Hd ®E Hhd
F 7 g faam & wEtsm & A8 w2 FE A s w9 seEn A R s e e % S
ARAT-TZAT, S-Sl ST SeA1E SEd H SANE 7 HHA 7, ¥4 WA= UeE h g ¥ 3 I
=AU Wel-Se STOTE WIS 9781 3 % O WA 0 A Wl 3 F9 fEu = w9 o g
=Y TE W1 FI1| THE UH IR HEA F 304 B F AR | T A -HE, aEE EER e g 86 st
T Ed ) faa-Tom w0 wmd o weg a1 Eean w99 29 £ S Wi FEed 7| -
M AT w5d H A1 F TF THE AT FH TAT 7 ToAw AT - 599 @ ° Tl o

T AT FF FEGAT AN SR FH A F G g FY F A AL T9E I FA F 0 FP 2 T

Al Bl F: IF TER F SATF AY-THdl H 7 SHE FH A5 96 SFAT| 398 FE 36 e Euta

T A TEAT 2, A 97 ITHh A=A WG A GHETEEl F 9 Sl A e H o 3

T A T AT Al 7| AS FE TR AATER IO HAT B0 A 98 FS R Sl & T,
“fi 7=, Hi-s= W A TER wE AT 299 A T CFR 9R STEE & @ 2 3 a9 g
TE FIE TAE TH 39 L AN AAEN I8 F HAT A FH e A 3 THA 7, AG: 35 TR

ToH O 7 5 e F v ofi =n wE w=v g 9 o @ wd of ar van faad ol w6 sy w0 o ofE
T 7

Sub questions

Question Number : 141 Question 1d : 61547512430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

STTd Hehd aTed ITeg] ohi F4T Taeradr 2 7

(1) Tt s9-=mm = fafearms @39
(2) g9 Taum * fow oo =9 9 v=eE
(3)  ova faeuer 1 sfyes s

(4) = HEEE F o S

Options:
51547548461, 1
61547545462 2

E1547548485. 5



E1547548464. 4

Question Number : 142 Question Id : 61547512431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ffoar 7 e =amm F=e wwal w1 TEE STt = e 2

™ =
]

(1) e = T veg I HEE % A5 ©
(2)  Hfaar 1 AU 9TaET B AT €9 H @A 2

(3)  hiadr § ITRHTY IeaT i 3T4eh 39&T Bl 8

.

(4) STodr Tafere =1 98] SEe 1 e Fdt 2

Options:

61547548465, 1
61547545466 2
61547548467 2
E1547545468. 4

Question Number : 143 Question Id : 61547512432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TTH | FIAET HYF el T8 87
(1) AW gHaT &g avd HEF & o o=t &

(2) TG Hehaos TRl BT FA-UE T HTEAT H U g SATIR T2 ®9 o T8 A7 7w

=

(3) =g, Hider @em, Hi-w=1 W g W % S9F 579 FHad § @ o

(4)  Tomerr s % ufaues weg Ty e Fea B

Options:

51547548469, 1
61547548470 2
61547548471, =



E1547548472. 4

Question Number : 144 Question Id : 61547512433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freafafea 8 5 Fi9-91 F97 98 981 27

(1) =% 1Y Hehdd 55 AHETT s9a8rl o oo § Faiies e 8

(2) Fiedr 1 %9 feufa G &+ fou s@s aeae, sEwunsn o n feafam +: g o 2

(3) ol o o0 g&qall S =R &l 79 § F9 o Fiad W1 STuie gar 8

(4)  HFar 1 FH =EIF 34 THal | T8 =9 qhdan

Options:

61547545473 1
61547545474, 2
61547548475 o
61547548476, 4

Question Number : 145 Question Id : 61547512434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TE TST AATER 8 @1 & T80 I il 997 faoradar 27

(1) 9 I &S I I AR B T g

(2) TF 7 a9 1 SR R TIE T

-

(3) Fe ITTTC TS F TFdF BT

(4) FioaT-FH & THA &



Options:

61547548477, 1
£1547545478. 2
E1547545479 2
615475458480, 4

Question Id : 61547512429 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension

frefaias s =28 =1 SAAYEF 92 788 FeEi-ad 9vAl F I 38 T EeeT 3 ¥ g

AT Y T A TEA A SAETEEal & w0 il S 9 A g e 78 wd e o e =
a1 WEE] I AU G- E SN e Vee A9 Tad B 954 ® UM WeE B A o TR s A

Ak WEd T T AT AR F UF WE TAA-T0 Y a0 A A 2| UH 2] F 29 Ad-Fhd FE T
21 7 g9 faum =+ == F 99 2| FRE A e 9w " AeTEE 7w AT 36 AN e % A

AEAT-12AT, STEA-S92A1, eI 5cA112 959 & =AM & Td 7, Ad: HeAEE 9eE & O ° 3 A6
=T i o frefi-gefl srere e A 3 % fom A o el 2 B e e o oo g
=Y T3 W21 w1 THY UH Y52 Fiad F 394 FE H A2 § de-=Eun, e HEn g g 8 s
T B 2 faa-Tom o | sEd ° weg a1 Eean 7 99 29 7 S W e 7| A -

M AT T5d T A1 TF TEE AT FE FAGT 2 oA T30 399 2@ ° Tl gor|

&
=

T A FF FgAT S WA H A & Hia g9 T § @ A7 T9E 30 i F [6 F 3 T

ATEdl 2| 3: IF UFR F ANF AY-TFHdl 5 B SOF FY TE 99 9Fd7| 09 98 39 6 o @
I HAT TEAT 7, 9] 97 IH SA0d Bad AT g9 $9 96w I Al o s=Een # o 3 =1

ST T F AT Fdl 2] T2 Fel F TR FAATER F AUE T SO0 A TR TS FOR =REAT F 99,

ofram T=rom, Si-w=n W g wER e aTaeEl 2 A@e Tl gE 91 SR 5 T 2 36 a9 g

T2 FE THE TE 3099 T HHAT| AN %S F A A T Thad SR A TFEA 7, 99 35 GO 4

T greE 2 5 aa 8 v oft =On e w0 @ 9 w9 @ wd o a1 v e ol F ey e oo
T 7

Sub questions

Question Number : 141 Question Id : 61547512430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



STTd Hohd AT ITsal i F97 Tororaar &2 7

(1)  TofEe S9-=mm +1 aEedarws [39 g

(2) T faem= & o7 fomm =9 5 m=ee

(3) o =T # At ST
(4) v HEEE o o sIgrEE
Options:

E1547548461. 1
E1547548462. 2
51547548463, 3
61547545464, 4

Question Number : 142 Question 1d : 61547512431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fiaar § Ta=/T =TI% = IeE1 R TR SATE T4 BT 8 7
=,

(1) e =amm g9 eg I 9EE ST
(2)  HiGAT T ATHUG 9IS F W T F @A 8
(3)  wwfgar & mriefys weat i srfees e Bt R

P

(4) Ffadar Tatere =1 981 JH= F1 = w1 2

Options:

51547548465, 1
61547545466, 2
61547548467, o
61547545468, 4

Question Number : 143 Question Id : 61547512432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TTH O FIET FYT Ta TR 27
(1) W= SHaT! 9Td v FETsE o fou o 2

(2) TG Fehaes TeGl 1 HA-UE T 9TEAT H U € SATR T2 §9 H 6 31 I

=

(3) a4, Hi9vr FFoM, E-g= W Mg YN & §9E 599 Fiadr § @ @

Options:

61547548469, 1
61547548470 2
61547545471 2
61547545472 4

Question Number : 144 Question Id : 61547512433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

refefad 5 o FH-97 F97 981 981 27

(1) S 312 Fehdeh 52 HHETU s8Rl o =01 § Saree 989 2

o

(2) o1 o1 %19 egfa fasia & 7w s meae, saenst o1 feafamr #t g9 o 2

(3)  Hfaar & fofu awqgett o =Om F 79§ Tw @ Tua @A STiEa g g

(4) ol 1 FE =90 374 Fehal 9 T8l = Fohal

Options:

61547548473, 1
61547545474 2
61547545475 2
61547545476, 4

Question Number : 145 Question Id : 61547512434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

TE TST AATER 8 @1 & T80 I il 997 faoradar 27

(1) =9 =l &s4 o hi IF o T99 FT

(2) TF 7 a9 1 SR R TIE T

-

(3) Fe ITTTC TS F TFdF BT

(4) FIAT-FH F FTTEA &

Options:

61547548477, 1
61547545478 2
61547545479 2
61547545450, 4

Sub-Section Number: 3
Sub-Section 1d: 615475534
Question Shuffling Allowed : Yes

Question Id : 61547512435 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension



fAfifian s=a8 1 SAFTET 92 91 359 Sead Tvl % 39 20 T e 3 | gi|

AT T 7 TEd W AR A g W A9 A F9 7 98 ogE | WOegiE # aw ad
TH 7| =W WOER 2@ = % $9 od 389 9g i U 2 S g A6 7, 9ok 9w 2| 54 e &
7§ 9 T PR S T SHNE A Al TR FEE e # o el 391 o e wa mee e e
ST I UF B GOF §od od A = | el waed § 7 et F A0 s9E IO 9ERn w gen fa
2 3N &9 BEHA & WY 99 IEEE F W T96 g i Few f 7| aEE 95 F oieE o
THITF, WIS S ATF G & ZaE 9 gt e i gEEaEE 2 F eee 1= g,
FATT QAT FaE] B GEd Sl AT T 2| SSE o (60 Wifecd W1 of| 77 ® 21 | 99 Uad # Hged
Hifeed | 57 ol 1 ogd AT=E9FF AEa1 91, 390 O FE 376 IS & T 8| 3R 5 Al w98 =
HEA o1, T W Y A S AOIT T WA A | AT H A W A Gmed & WA Bl I TR @
Tzt F T FEET TF TSA1 6 TFE o 399 (0 Tiee T atEamive oeen = 2 i s
foast TeEiE BER F AUdH TESER 99 T 2 39 feA FARA i ASvEeiEadar T W |
favam s 32 w9 = sgue 9 % TR fi gueg =mEwa ¥ R smms i wa w@eE vEen st
mmmim'ﬂﬁTﬁﬁmﬁfWﬁmmgzﬁTw%s@ﬁﬁmaﬁwﬁaﬂTmmﬁ
SATTAT TES 7 T 2| TS F 9 T S0 wE 19 TRET W 9 H B (30 gOTe) FE A
?ﬂ?ﬂ.ﬁfﬁmﬂhgﬁm—ﬁﬁwﬂﬂwtmuﬁﬁﬁﬂmﬂ}wmwﬁﬁwaﬁ
Tiadd TH-21 A 3FF 5 E AR S Heh UNonEeET 0 FEE TEeH-T § A S TR AT
SE IO AT TEW F A-d ° 6 95 T 7| Oifeed o T T 9Ratad AR 9iEam e goat $
A3 AFFAI A 7 91 98 TEd-HI w0l F GHFA F TeAdl F G 2 (5 gfEafad @7 afEdsE geat
FT FFH-2 ﬂ+4t|+|mﬂma*4{=ﬂwmm f Tifeyfeal % Zamd ¥ o 9= 52 7 9 fhaA
AT 2, a1 JaradE = A0 e v 2 199 w0 0 g S =1 99l 2

Sub questions

Question Number : 146 Question 1d : 61547512436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST SR O Eed § R 3 e A 9w o od e feuty e

(1) o 3@ AeHl & AHT Afsq &k g@dl a1
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